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RIX RBAHA fLEmEY 32 1|3 R E I, f= P DS
RX REHA TLEmEY 33 0| /= 3= Him B stttk = b X5
RIX RBHA fLEmEl 34 0 = SEHx B 3 g5 f= 3 s
RX RBEHA fLEmEY 35 1| R RE I f= PR U
RIX RBEHA TLEmBY 35 2| /= R B s Z Dt
RIX RBHA (2 K] 35 3| = SRR B s f= 3 s
RX RBEHA fLEmEY 36 0| = IR s f= PR PUE
RIX RBEHA fLEmEY 37 1| =R B i = R X5
RIX RBAHA (2Ll 37 2| = SRR B s f= 3 s
R RBEHA fLEmEY 38 0| = IR s f= PR U
RIX RBEHA L¥wEI 39 0| /= 3= i B st sk f= I HE XI5
RIX RBAHA (2] 40 0| = SR B i s f= 3 DS
R RBEHA fLEmEY 41 0| = IR 5 f= PR U
RIX RAHA (A kD] 41 1|2 REM I f= I HE XS
RIX RBA fLEmEN 42 0 = ZE 4R B i i f= 3 s
RX RBEHA TLEmEY 43 0| = ZE 4R B i 4 f= PR S
RIX RBEHA TL¥wEI 44 0 = S Hx B 335 f= I X5
RIX RBAHA (2Ll 45 0 = ZE 4R B i i f= 3 s
RX RBEHA fLEmEY 46 0| = ZEHR B 3 4 f= PR S
R RBAHA TL¥wEI 47 0 = SE i B 3t i f= I X5
RIX RAHA fLEmEY 47 1|2 RIS f= P DS
RX RBEHA fLEmEY 48 0| = ZE 4R B i 4 f= PR U
R RBAHA {LEmEN 48 1| 2RI I f= I XS
RIX RBHA fLEmEY 49 0| = =R s f= P DU
RX REHA TLEmEY 50 0| /= 3= Him B st dsg = I X5
R RBAHA fLEmEl 51 0 = SEHx B 3 s f= B s
RIX RBHA fLEmEY 52 0 = ZE 4R B iy 4 f= P XIS
RX RBEHA fLEmEY 53 0| /= 3= Him B st sk = X I
R RBHA {LEmEl 54 0 = SEHx B 3t s f= 3 s
RX RBAHA fLEmEY 55 0| = SR sy f= PRI DU
RIX RBEHA fLEmEY 56 0| /= 3= Him B st dsg = b X5
R RBHA {LEmEl 57 0 = S B 3 i f= 3 s
RIX RBHA fLEmEY 58 0| = SR sy f= P DS
RIX RBEHA L¥wEI 59 0| /= = Him B st sk f= M X5
RIX RBHA {LEmEl 59 1|2 R E I, f= 3 s
RX RBEHA fLEmEY 60 0| = IR EE s f= PR U
RIX RBEHA TLEmEY 60 1| =R B i I f= I X5
RIX RBHA (2 K] 61 0 = SEHx B i g f= 3 s
R REHA fLEmEY 62 0| = ZE 4R B i 4 f= PR S
RIX RBHA TL¥wEI 63 1| 2RI A I f= I HE X5
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1T RF N wE | & f= SRR B R X f= 3t P X 7 BX 5
R REHA fLEmEY 63 2| = SRR B i Z Dt
R RBAHA 22kl 64 1|2 R I =R X,
RIX RBAHA fLEmEY 64 2| = R s Z D
RX RBEHA TLEmEY 65 1| 2RI A=A X
R RBAHA {LEmET 65 2| = SRR B s Z D
RIX RBA fLEmEN 66 1|3 R E I, f= 3 s
RX REHA feEmal 66 2| /= R YR B s Z D
R RBAHA TL¥wEI 67 1|2 R I f= B s
RIX RBAHA fLEmEY 67 2| = R s Z D
RX RBEHA fLEmEY 68 1| =R E i i = X I
R RBAHA fLEmEN 68 2| = SR B s Z D,
RIX RBAHA fLEmEY 69 1| =R I Z Dt
RIX RBEHA Al 69 2| /= R B s Z D
R RBAHA {LEmEN 70 1| =R I Z D,
RIX RBAHA fLEmEY 70 2| = SRR B s Z D
RX REHA TLEmEY 71 1| =R B i =X
RIX RBHA fLEmEl 71 2| = R s Z D,
RX RBEHA fLEmEY 72 1| R RE I f= PR U
RIX RBEHA TLEmBY 72 2| /= R B s Z D
RIX RBHA {LEmEl 73 1|2 R I f= 3 s
RX RBEHA fLEmEY 73 2| = R s Z D
RIX RBEHA fLEmEY 74 1| =R B i =X
RIX RBAHA fLEmEl 74 2| R R s Z D,
R RBEHA fLEmEY 75 1| R RE I =X
RIX RBEHA L¥wEI 75 2| /= R R B s Z D
RIX RBAHA {LEmEN 76 1| =R H I8 f= 3 DS
R RBEHA fLEmEY 76 2| = R s Z DAt
RIX RAHA (A kD] 77 1|2 REM I = X
RIX RBA fLEmEN 77 2| = R s Z D
RX RBEHA TLEmEY 78 0| = ZE 4R B i 4 A=A X
RIX RBHA TL¥wEI 78 1| 2RI A I =X
RIX RBAHA fLEmEl 78 2| = SRR B s Z D
RX RBEHA fLEmEY 79 1|2 EREM I =R X
R RBAHA {LEmET 79 2| = SR B s Z D
RIX RAHA fLEmEY 80 1|3 R E I, f= P DS
RX RBEHA fLEmEY 80 2| = ZE AR B o a2k
R RBAHA TL¥wEI 81 1| =R I =R X
RIX RBHA fLEmEY 81 2| = R s Z D
RX REHA TLEmEY 82 1| =R B i =X
R RBAHA fLEmEl 82 2| = R s Z D
RIX RBHA fLEmEY 83 1|3 R E I, f= P XIS
RX RBEHA fLEmEY 83 2| = SRR H e Z D
R RBHA {LEmEl 84 0 = SEHx B 3t s f= 3 s
RX RBAHA fLEmEY 84 1|3 R E I, f= PRI DU
RIX RBEHA feEmal 84 2| /= R B s Z D
R RBHA {LEmEl 85 1|2 R E I, f= 3 s
RIX RBHA fLEmEY 85 2| = SRR B s Z D
RIX RBEHA L¥wEI 86 1| =R B i, =X
RIX RBHA {LEmEl 86 2| = SRR B s Z D,
RX RBEHA fLEmEY 87 1| R RE I f= PR U
RIX RBEHA TLEmEY 87 2| /= R YR B s Z D
RIX RBHA (2 K] 88 0 = SEHx B i g f= 3 s
R REHA fLEmEY 88 1|2 EREM I =X,
RIX RBHA TL¥wEI 88 2| /= R B s =X
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1T N = f= SRR B R X f= 3t P X 7 BX 5
R REHA fLEmEY 88 3| = SRR B Z Dt
R RBAHA {LEmET 89 1| 2RI I =R X,
RIX RBAHA fLEmEY 89 2| = SRR B s Z D
RX RBEHA TLEmEY 90 1| 2RI A=A X
R RBAHA {LEmET 90 2| = SRR B s Z D
RIX RBA fLEmEN 91 1| =R I f= 3 s
RX REHA feEmal 91 2| /= R YR B s Z D
R RBAHA fLEmEl 92 0 = SEHx B 3 s f= B s
RIX RBAHA fLEmEY 92 1|2 RIS f= P DS
RX RBEHA fLEmEY 94 0| = SR F s Z D
R RBAHA 22k 94 1|2 REM I f= P DS
RIX RBAHA fLEmEY 95 1|3 R E I, f= PRI DS
RIX RBEHA Al 95 2| /= R B s Z D
R RBAHA {LEmEN 95 3| R R s Z D,
RIX RBAHA fLEmEY 96 0| = =R EE s f= P DS
RX REHA TLEmEY 97 0| /= 3= Him B stttk =X
RIX RBHA (ALl 97 1|2 RIS f= 3 s
RX RBEHA fLEmEY 97 2| = R s f= PR U
RIX RBEHA TLEmBY 98 0| /= 3= Him B st sk = X I
RIX RBHA {LEmEl 98 1|2 R E I, f= 3 s
RX RBEHA fLEmEY 99 0| = IR s f= PR PUE
RIX RBEHA fLEmEY 100 0| /= 3= Him B st dsg =X
RIX RBAHA fLEmEl 101 0 = ZE 4w B i i f= 3 s
R RBEHA fLEmEY 102 0| = IR s =X
RIX RBEHA L¥wEI 102 1| =R B I =X
RIX RBAHA (2] 102 2| f= SRR B s f= 3 DS
R RBEHA fLEmEY 103 0| = IR 5 =R
RIX RAHA (A kD] 104 0 = SE i B 335 = X
RIX RBA fLEmEN 104 1|2 REM I f= 3 s
RX RBEHA TLEmEY 105 0| = ZE 4R B i 4 A=A X
RIX RBEHA TL¥wEI 106 0 = S Hx B 335 =X
RIX RBAHA fLEmEl 107 0 = ZE 4R B i i f= 3 s
RX RBEHA feEmBARE 1 1|2 EREM I 2k
R RBAHA T EmBEALRR] 1 2| = R B s Z D
RIX RAHA T SmEAtR A 1 3| = IR s Z D,
RX RBEHA T EmBARE 2 0| = ZE 4R B i 4 a2k
R RBAHA L EmBEALRR] 3 0| = = YR B sk Z D
RIX RBHA L SmEAFR A 4 0| = =R s Z D
RX REHA T EmPARE 5 0| /= 3= Him B st dsg Z D
R RBAHA TLEmBAFRED 6 1|2 R I Z D
RIX RBHA T SmAAFR A 6 2| = SRR B s Z D
RX RBEHA T EmBARE 7 0| = SR F s Z D
R RBHA T EmBEALRR] 8 0| = =R B sy Z D,
RX RBAHA L SmEA R A 9 0| = SR sy Z D
RIX RBEHA T EmBARET 10 0| /= 3= Him B st dsg Z D
R RBHA T EmBEALRR] 11 1|2 R E I, Z D,
RIX RBHA T SmEAFR A 11 2| = R s Z D
RIX RBAHA L EmBALERR] 12 0| /= = Him B st sk Z D
RIX RBHA T SmEALRR] 16 0| = =R B s Z D,
RX RBEHA T mAA R A 17 0| = IR EE s Z D
RIX RAHA T EmPARE 27 1| =R B i I Z D
RIX RBHA T mEALRR] 27 2| = R s Z D,
R REHA T EmBARE 28 0| = ZE 4R B i 4 Z Dt
RIX RBHA L EmBALRR] 31 0| /= =Y B st sk Z D
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1T N wE | & f= SRR B R X f= 3t P X 7 BX 5
R REHA T EmBAFR A 32 0| /= ZE 4R B i i Z Dt
RIX RBAHA L EmBEALRR] 33 0| = =Y B st sk Z D
RIX RBAHA T SmAAtR A 34 0| /= =R EE s Z D
RX RBEHA TESmAAtR AT 35 0| /= ZEHR B i 4 Z D
R RBHA TL¥mBAFRED 36 1|2 REM I Z D
RIX RBHA T SmAAR A 36 2| = SRR B s Z D
RX REHA T EmPARE 47 0| = SR F s Z D
RIX RBAHA fLimE 1 0| = =R B sy Z D
RIX RBAHA TLimE 2 0 = ZE 4R B i 45 2k
RX RBEHA fLimE 2 1| 2R I Z D
RIX RBAHA fLimE 2 2| = R B s Z D,
RIX RBAHA L= 3 0| = YRI5 2k
RIX RBEHA LimE 4 0| = SR F it s Z D
RIX RBAHA L= 5 0| = =R B sy Z D,
RIX RBAHA fLmE 6 0| = =R EE s 2k
RX REHA LimE 7 0| = SR F itz Z D
RIX RBHA L= 8 0| = =R I s Z D,
RX RBEHA A 9 0| = IR EE s Z Dt
RIX RBEHA TLimE 10 0| /= SRR F it iz Z D
RIX RBHA L= 10 1|2 R I Z D,
RX RBEHA fLmE 11 0| = IR s Z DAt
RIX RBEHA fLimE 12 0| = SR F itz Z D
RIX RBAHA fL¥mE= 12 1| 2RI 2k
R RBEHA fLimE 13 0| = IR s Z DAt
RIX RBEHA L= 14 0| = SR F itz Z D
RIX RBAHA L= 15 0| = =R B sy Z D,
R RBEHA fLimE 16 0| = IR 5 Z DAt
RIX RAHA L= 17 0| /= = YR B st sk Z D
RIX RBAHA fLEmE= 18 0 = ZE 4R B i i 2%
RX RBEHA LimE 19 0| = ZE 4R B i 4 Z Dt
RIX RBEHA L= 20 1|2 REM I Z D
RIX RBAHA fLimE 20 2| = R s 2k
RX RBEHA fLimE 21 0| = ZEHR B 3 4 2k
RIX RBAHA L= 22 0| = =Y B st sk Z D
RIX RAHA L= 23 0 = ZE 4R B i i 2k
RX RBEHA LimE 24 0| = ZE 4R B i 4 a2k
RIX RBAHA fLimE 25 1| =R I Z D
RIX RBHA fLmE 25 2| = R s Z DAt
RX REHA LimE 26 1| =R B i Z D
RIX RBAHA fLimE 26 2| = SR B s Z D
RIX RBHA TLmE 27 1| =R I 2k
RX RBEHA fLimE 27 2| = SRR H e Z D
RIX RBHA L= 28 1|2 R I Z D,
RX RBAHA fLmE 28 2| = YR s 2k
RIX RBEHA fLimE 29 1| =R B i Z D
RIX RBHA L= 29 2| = SRR B s Z D,
RIX RBHA fLmE 30 1|3 R E I, Z DAt
RIX RBEHA L= 30 2| = SRR H st s Z D
RIX RBHA L= 30 3| R E R s Z D,
RX RBEHA fLmE 31 1| R RE I Z Dt
RIX RBEHA L= 31 2| = SRR Bt e Z D
RIX RBHA L= 31 3| R E R s Z D,
R REHA fLmE 32 1|2 EREM I Z Dt
RIX REHA L= 32 2| /= R B s Z D
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1T N wE | & f= SRR B R X f= 3t P X 7 ‘X
R REHA fLmE 32 3| = SRR B Z Dt -
RIX RBAHA L= 33 1|2 R I Z D -
RIX RBAHA L= 33 2| = R s 2k -
RX RBEHA LmE 34 1| 2RI Z D -
R RBAHA fLimE 34 2| = R B s Z D -
RIX RBHA fLmE 35 1|3 R E I, 2% -
RX REHA LimE 35 2| /= R YR B s Z D -
R RBAHA fLimE 36 1| =R E I, Z D -
RIX RBAHA TLimE 36 2| = R s 2k -
RX RBEHA fLimE 36 3| = IR HE s Z D -
R RBAHA fLimE 37 1| =R E I, Z D, -
RIX RBAHA L= 37 2| = R s 2k -
RIX RBEHA LimE 38 0| /= = Him B st tsg Z D -
R RBAHA L= 38 1|2 R E I, Z D, -
RIX RBAHA fLmE 38 2| = R s 2k -
RX REHA LimE 39 1| =R B i Z D -
RIX RBHA L= 39 2| = SRR B s Z D, -
RX RBEHA A 40 1| R RE I Z Dt -
RIX RBEHA TLimE 40 2| /= R B s Z D -
RIX RBHA L= 41 0| = =R B s Z D, -
RX RBEHA A H 1 1| R RE I f= PR PUE R
RIX RBEHA A H 1 2| /= R B s Z D -
RIX RBAHA AR H 1 3| = SRR B s 2k -
R RBEHA A H 1 4| = R 5 Z DAt -
RIX RBAHA AR H 2 1| =R B I =X =3
RIX RBAHA FiARH 2 2| R R s Z D, -
R RBEHA A H 2 3| = R s Z DAt -
RIX RAHA AR H 3 1| =R E I, = X =3
RIX RBAHA fARH 3 2| = R s 2% -
RX RBEHA A H 3 3| = 2R B s Z Dt -
RIX RBHA A H 4 1| =R B I =X =3
RIX RBAHA AR H 4 2| = R s Z D -
RX RBEHA A H 4 3| = SRR B o 2k -
RIX RBAHA AR H 5 1| =R E I, =R X -3
RIX RAHA AR H 5 2| = SRR B s 2k -
RX RBEHA A H 5 3| = SRR B S s a2k -
RIX RBAHA AR H 6 1| =R E I, =R X =3
RIX RBHA N 6 2| = R s Z DAt -
RX REHA A H 6 3| = R B s Z D -
RIX RBAHA AR H 7 1|2 R I =R =3
RIX RBHA AR H 7 2| = YR s 2k -
RX RBEHA A H 7 3| = IR HE s Z D -
RIX RBHA fARH 8 1|2 R E I, =R X, =3
RX RBAHA A H 8 2| = YR s 2k -
RIX RBEHA A H 8 3| /= R B s Z D -
RIX RBHA fARH 9 1|2 R E I, =R X, =3
RIX RBHA N 9 2| = R s f= P DS A
RIX RBAHA AR H 9 3| /= R R B s Z D -
RIX RBHA fARH 9 4| = SR B s Z D, -
RX RBEHA A H 10 1| R RE I f= PR U R
RIX RAHA A H 10 2| /= R YR B s Z D -
RIX RBHA AR H 10 3| R E R s Z D, -
R REHA A H 11 1|2 EREM I =X, J=3:
RIX RBHA AR H 11 2| /= R B s Z D -
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1T N wE | & f= SRR B R X f= 3t P X 7 BX 5
R REHA A H 11 3| = SRR B Z Dt -
RIX RBHA AR H 12 1| =R E I, =R X, -3
R RBAHA AR H 12 2| = R s Z D -
R RBEHA A H 12 3| = SRR B i Z D -
RIX RBAHA AR H 13 1| 2RI I =R X -3
RIX RBHA fARH 13 2| = R s =R X, =3
R REHA A H 13 3| = R B s =X =3
RIX RBAHA AR H 13 4| = SR B s Z D -
R RBAHA AR H 13 5| = R B, Z D -
R RBEHA A H 14 1| 2R I Z D -
RIX RBHA AR H 14 2| = SR B s =R X, -3
R RBAHA A H 14 3| = R s Z Dt -
RIX RBEHA A H 14 4|2 SR B s Z D -
RIX RBAHA fARH 15 1| 2= SRR H 15 =R X, =3
R RBAHA AR H 15 2| = R s Z D -
R REHA A H 15 3| = R H s Z D -
RIX RBHA AR H 16 1| 2R i =R, -3
R RBEHA A H 16 2| = R s Z D -
RIX RBEHA A H 16 3| = SR H s Z D -
RIX RBHA AR H 17 1|2 R I =R, -3
R RBEHA A H 17 2| = R s Z D -
RIX RBEHA A H 17 3| = SR H s Z D -
RIX RBAHA igNEs 18 1|3 R E I, =R X, =3
R RBEHA A H 18 2| = R s =X R
RIX RBEHA AR H 18 3| = SR H i Z D -
RIX RBAHA fARH 18 4| /= SR g Z D, -
R RBEHA A H 19 1| R RE I =R =
RIX RAHA AR H 19 2| = SR B s Z D -
RIX RBA iARH 19 3| = SRR B s 2% -
R RBEHA A H 20 1|2 E R A=A X R
RIX RBHA AR H 20 2| = S B s Z D -
RIX RBHA AR H 20 3| = SRR B s 2k -
R RBEHA A H 25 0| = ZEHR B 3 4 2k -
RIX RBHA AR H 26 0| = =Y B st sk Z D -
R RAHA igNEs 27 0| /= =R s 2k -
R RBEHA A H 28 0| = ZE 4R B i 4 a2k -
RIX RBHA FREI 1 1| =R E I, Z D -
R RBHA FREN 1 2| = R s Z D -
R REHA FHRED 1 3| = R Hth s Z D -
RIX RBHA FREI 1 4| = SR s Z D -
R RBHA FREN 1 5| = R B, Z D -
R RBEHA FHED 2 1| 2R I Z D -
RIX RBHA FREN 2 2| R YR s Z D, -
R RBAHA FREN 2 3| = R s Z D -
RIX RBEHA FREI 3 0| = SR H iz Z D -
RIX RBHA FREN 4 0| = = YR B sy Z D, -
R RBHA FREN 5 0| = SR sy Z D -
R RBEHA FREI 6 1| 2R A I Z D -
RIX RBHA FREN 6 2| = SRR B s Z D, -
R RBEHA FRE 7 0| = IR EE s Z D -
R RBEHA FRED 8 0| /= SR F itz Z D -
RIX RBHA FREN 9 0| = =R B s Z D, -
R REHA FHED 10 0| = ZE 4R B i 4 Z Dt -
RIX REHA FREI 11 0| /= =Y B st sk Z D -
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1T RF INF ME [ mE f= SRR B R X f= 3t P X 7 R&EX
R REHA FRED 12 0| /= ZE 4R B i i Z Dt -
R RBAHA FREN 13 0| = =Y B st sk Z D -
RIX RBAHA FREN 14 0| /= =R EE s Z D -
RX RBEHA FHRED 15 0| /= ZEHR B i 4 Z D -
R RBAHA FREN 16 0| /= = Y B st sk Z D -
RIX RBA FREN 17 0 = ZE 4R B i i 2% -
RX REHA FHRED 18 0| /= 3= Him B st dsg Z D -
R RBAHA FREI 19 1|2 R I Z D -
RIX RBAHA FREN 19 2| = R s 2k -
RX RBEHA FHED 20 0| /= 3= Him B st sk = X I =3
R RBAHA FREI 21 0 = SEHx B 3t i f= P DS -3
RIX RBAHA FREN 21 1|3 R E I, f= PRI DS =
RIX RBEHA FREI 22 0| /= = Him B st tsg =X =3
R RBAHA FRGEI 23 0 = S B 3t s f= 3 s =3
RIX RBAHA FREN 24 0 = ZE 4R B i 4 f= P DS A
RX REHA FHRED 25 0 = 5 I B 335k =X =3
RIX RBHA FREI 26 0 = SEHx B 3 g5 f= 3 s -3
RX RBEHA FRE 27 0| = IR EE s f= PR U R
RIX RBEHA FRED 28 0| /= 3= Him B st sk = X I =3
RIX RBHA FREI 29 0 = SEHx B i g f= 3 s -3
RX RBEHA FREN 29 1| R RE I f= PR PUE R
RIX RBEHA FHRED 30 0| /= 3= Him B st dsg =X =3
RIX RBAHA FREI 31 0 = ZE 4w B i i f= 3 s =3
R RBEHA FRE 32 0| = IR s f= PR U R
RIX RBEHA FREI 33 0| /= 3= i B st sk =X =3
RIX RBAHA FRGEI 34 0| = SR B i s f= 3 DS =3
R RBEHA FREN 35 0| = IR 5 f= PR U =
RIX RAHA FREI 36 0 = SE i B 335 = X =3
RIX RBA FREN 37 0 = ZE 4R B i i f= 3 s =3
RX RBEHA FHRED 38 0| = ZE 4R B i 4 A=A X =it — AR MR At
RIX RBHA FREI 39 1| =R B I f= I X5 = —aR R ERTERR A
RIX RBAHA FREN 39 2| = R s 2k -
RX RBEHA FHED 40 0| = ZEHR B 3 4 =R X R
R RBAHA FREI 40 1| =R E I, =R X -3
RIX RAHA FREN 41 0 = ZE 4R B i i f= P DS =3
RX RBEHA FHED 42 0| = ZE 4R B i 4 =R X J=3:
R RBAHA FREI 43 0 = SE i B St ik =R X =3
RIX RBHA FREN 44 0| = ZE 4R B i 4 f= P DU A
RX REHA FHRED 45 0| = S I B 335k =X =3
R RBAHA FREI 46 1| =R E I, f= B s -3
RIX RBHA FREN 46 2| = SRR B s Z D -
RX RBEHA FHED 47 1| =R E i i = X I =3
R RBHA FREN 47 2| R YR s Z D, -
RX RBAHA FREN 47 3| = R s Z D -
RIX RBEHA FREI 47 4| = AR s Z D -
R RBHA FREN 47 5| = R B, Z D, -
RIX RBHA FREN 47 6| = R B, Z D -
RIX RBEHA FREI 48 1| =R B i, =X =3
RIX RBHA FREN 48 2| = SRR B s Z D, -
RX RBEHA FRE 48 3| = R s Z Dt -
RIX RBEHA FRED 49 0| /= 3= Him B st dsg =X I =3
RIX RBHA FREN 49 1| 2RI i f= 3 s -3
R REHA FHED 49 2| = SRR B s Z Dt -
RIX RBHA FRE 49 3| /= R s Z D -
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R REHA FRED 50 1| = EREM I =R X,
R RBAHA FRGEI 50 2| = SRR B s Z D
RIX RBAHA FREN 50 3| = R s Z D
RX RBEHA FHRED 51 1| 2RI A=A X
R RBAHA FREN 51 2| = R B s Z D
RIX RBA FREN 51 3| R IR s Z D
RX REHA FHRED 52 1| =R B i =X
R RBAHA FREN 52 2| = R s Z D
RIX RBAHA FREN 52 3| = R s Z D
RX RBEHA FHED 53 0| /= 3= Him B st sk = X I
R RBAHA FREI 53 1| =R E I, f= P DS
RIX RBAHA FREN 53 2| = SRR B s Z Dt
RIX RBEHA FREI 53 3| /= R s Z D
R RBAHA FRGEI 54 1| =R I f= 3 s
RIX RBAHA FREN 54 2| = R s Z D
RX REHA FHRED 54 3| = R R B s Z D
RIX RBHA FREN 55 1| 2R i f= 3 s
RX RBEHA FRE 55 2| = R s Z D
RIX RBEHA FRED 55 3| = R R s Z D
RIX RBHA FREN 56 1|2 R E I, f= 3 s
RX RBEHA FREN 56 2| = R s Z D
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R RBHA LB 11 4| = IR s Z D,
RIX RBA L8 11 5| = R B, Z DAt
RIX RBEHA LB 12 1| =R B i, =X
RIX RBHA LB 12 2| = R s Z D,
RX RBEHA fiat) 12 3| = R s Z Dt
RIX RBEHA LB 13 1| =R B i I =X I
RIX RBHA LB 13 2| = SRR B s Z D,
R REHA a3 13 3| = SRR B Z Dt
RIX REHA fiat) 14 1| =R B I, =X
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1T = IR I X =R X o BX 5
R REHA a3 14 2| = SRR B i =R X,
R RBHA LB 14 3| = R s =R X,
R RBHA LB 14 4| /= SR g 2k
R RBEHA LiE 14 JEES e Z D
R RBHA LB 15 1| =R E I, =R X
R RBA L8 15 2| = R s 2%
R REHA LiE 15 3| = R Hth s Z D
R RBHA LB 16 1| =R E I, =R
R RBHA L8 16 2| = R s 2k
R RBEHA LiE 16 3| = IR HE s Z D
R RBHA LB 17 1| =R E I, =R X,
R REHA a3 17 2| = R s 2k
RIX RBEHA LiE 17 3| = SR H s Z D
R RBHA LB 18 1|2 R E I, =R X,
R REA a3 18 2| = R s 2k
R REHA LB 18 3| = R H s Z D
R RBHA LB 19 1|2 RE I, =R,
R RBEHA fiat) 19 2| = R s Z Dt
R RBEHA LB 19 3| = SR H s Z D
R RBHA LB 20 1|2 R E I, =R,
R =Pl fiat) 20 2| = R s Z DAt
RIX RBEHA LB 20 3| = SR H s Z D
R RBHA LB 20 4| = SR I s 2k
R RBEHA fint 20 5| = R B Z DAt
R RBEHA LB 25 0| = SR F itz Z D
R RBHA LB 26 0| = =R B sy Z D,
R RBEHA fint 27 0| = IR 5 Z DAt
R RBHA LB 28 0| /= = YR B st sk Z D
R RBA L8 29 0 = ZE 4R B i i 2%
R RBEHA R 1 0| = ZE 4R B i 4 Z Dt
R RBEHA EI 2 1| =R B I Z D
R RBHA FR 2 3| = SRR B s 2k
R RBEHA R 2 4| = 2R B A 4 2k
R RBHA ENR 3 1| =R E I, Z D
R RBA FNR 3 2| = YR s 2k
R RBEHA FNER 3 3| = SRR B S s a2k
R RBHA LR 3 4| = IR s Z D
R RBHA R 3 5| = R B, Z DAt
R REHA R 3 6| = F IR B I Z D
R RBHA ENR 5 0| = =R B sy Z D
R RBHA R 6 0 = ZE 4R B iy 4 2k
R RBEHA ENR 7 0| = SR F s Z D
R RBHA ENR 8 1|2 R E I, Z D,
R RBAHA R 8 3| = R s 2k
RIX RBEHA R 9 1| R R I Z D
R RBHA ENR 10 0| = = YR B sy Z D,
R RBHA R 11 0| = SR sy Z DAt
R RBEHA ENR 12 0| = SR F itz Z D
R RBHA ENIR 13 0| = =R B s Z D,
R RBEHA R 14 1| R RE I Z Dt
R RBEHA ENR 14 2| = SRR Bt e Z D
R RBHA ENIR 14 3| R E R s Z D,
R REHA FNR 14 5| A= SR F i, Z Dt
R REHA LR 14 6| = SR Bt i, Z D
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1T N wE | & IR I X =R X o ‘X
R REHA FNR 14 7| = 2R B s Z Dt -
R RBHA ENR 14 8| /= = Y B sk Z Dt -
R RBHA FNR 14 9| = R s 2k -
R RBEHA R 14 10| R E I Z DAt -
R RBHA ENR 15 1| =R E I, Z Dt -
R RBA FR 15 2| = R s 2% -
R REHA R 15 3| = R Hth s Z DAt -
R RBHA ENR 15 4| = SR s Z Dt -
R RBHA R 15 5| = R B, 2k -
R RBEHA R 16 1| 2R I Z DAt -
R RBHA ENR 16 2| = R B s Z Dt -
R REHA R 16 3| = R s 2k -
RIX RBEHA ENR 17 0| = SR F it s Z DAt -
R RBHA ENR 18 0| = =R B sy Z Dt -
R REA R 19 1|3 R E I, 2k -
R REHA R 19 2| = SR Hth e Z DAt -
R RBHA ENIR 19 3| R R s Z Dt -
R RBEHA R 20 0| = IR EE s Z Dt -
R RBEHA LR 22 0| /= 3= Him B st sk Z Dt -
R RBHA ENIR 23 1|2 R E I, Z Dt -
R =Pl R 23 2| = R s Z DAt -
RIX RBEHA LR 24 2| = SRR H it s Z DAt -
R RBHA ENR 24 3| R R s 2k -
R RBEHA FNR 24 4| = R 5 Z DAt -
R RBEHA ENR 24 5| R R E I Z DAt -
R RBHA ENR 25 3| = R s Z Dt -
R RBEHA R 25 4| = IR 5 Z DAt -
R RBHA ENR 25 5| = R B I, Z DAt -
R RBA FR 26 2| = R s 2% -
R RBEHA R 26 3| = 2R B s Z Dt -
R RBEHA LR 26 4|2 SRR B s Z DAt -
R RBHA ENR 26 5| = R B I 2k -
R RBEHA R 31 1|2 EREM I Z DAt -
R RBHA ENR 31 2| = SRR H st e Z Dt -
R RBA FNR 31 3| = IR s 2k -
R RBEHA +H 1 0| = ZE 4R B i 4 Z DAt -
R RBHA +H 2 0| /= SR Btz Z Dt -
R RBHA LH 12 1|3 R E I, = A X, B
R REHA +H 12 2| /= R YR B s =X =3
R RBHA +H 12 3| = R s =R =3
R RBHA L£H 16 2| = YR s 2k -
R RBEHA +H 16 3| /= S R B s f= b X 35 =3
R RBHA L£H 16 4| =R FE 5 =R X, =3
R RBAHA +H 16 5| = R B I, = A X I, =i
RIX RBEHA +H 17 1| =R B i =X =3
R RBHA LH 17 2| =R H s Z Dt -
R RBA LH 18 4| = SR s Z DAt -
R RBEHA LH 18 6| = R B I Z DAt -
R RBHA L£H 18 7|2 R s Z Dt -
R RBEHA +H 20 1| R RE I = A, R
R RBEHA +H 20 2| = SRR Bt e Z DAt -
R RBHA LH 20 3| R E R s Z Dt -
R REHA +H 20 4| = 2R B A 4 =X, J=3:
R REHA +H 20 5| = R B i, Z Dt -
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1T N wE | & f= SRR B R X =R X o BX 5
R REHA +H 20 6| f= SR F i =R X, =3
R RBHA +H 20 8| /= = Y B sk Z D -
R RBHA L£H 20 9| = R s 2k -
R RBEHA +H 20 102 EREM I Z D -
R RBHA LH 20 11|22 R B s Z D -
RIX RBA +H 20 12| BRI Z DAt -
R REHA +H 21 0| /= 3= Him B st dsg =X =3
R RBHA +H 24 0| = =R B sy =R =3
R RBAHA LM 27 2| = R s 2k -
R RBEHA +H 30 1| 2R I Z D -
R RBHA +H 30 2| = R B s Z D, -
R RBAHA +H 31 1|3 R E I, 2k -
RIX RBEHA +H 31 2| = SRR H s Z D -
R RBHA LH 31 3| R R s Z D, -
R RBAHA LH 32 0| = =R EE s = A X, A
R REHA +H 33 3| = R H s Z D -
R RBHA L£H 36 2| = R s Z D, -
R RBEHA +H 36 3| = R s Z Dt -
R RBEHA +H 38 2| = SRR H st s Z D -
R RBHA LH 38 3| R E R s Z D, -
R RBEHA +H 38 5| = R HE I, Z DAt -
RIX RBEHA +H 38 6| = IR B i Z D -
R RBHA LH 38 8| = YR B sy 2k -
R RBEHA M 39 0| = IR s Z DAt -
R RBEHA +H 39 4| = SRR F s Z D -
R RBHA LH 39 5| = R B I, Z D, -
R RBEHA M 41 4| = IR 5 Z DAt -
R RBHA #H 1 1| 2R RE I Z D -
R RBA #H 1 2| = SRR B s 2% -
R RBEHA T 2 1|2 E R Z Dt -
R RBEHA #H 2 2| = SRR H st s Z D -
RIX RBHA #H 3 2| = R s 2k -
R RBEHA T 4 1|2 EREM I 2k -
R RBHA #H 4 3| = R s Z D -
R RBA T 4 4| = SR s 2k -
R RBEHA T 9 0| = ZE 4R B i 4 a2k -
R RBHA #H 10 0| = = YR B sk Z D -
R RBHA #H 11 0| = =R s Z DAt -
R REHA #H 12 1| R R I Z D -
R RBHA #H 13 1| =R E I, Z D -
R RBHA #H 15 1| =R I 2k -
R RBEHA T 15 3| = IR HE s Z D -
RIX RBHA #H 15 4| = IR s Z D, -
R RBAHA #H 15 5| = R B I, 2k -
RIX RBEHA T 15 6| = IR B I Z D -
RIX RBHA #H 15 7|2 YR s Z D, -
R RBHA #H 17 1|3 R E I, Z DAt -
R RBEHA #H 17 2| = SRR H st s Z D -
RIX RBHA FrHER 1 1|2 R E I, =R X, -3
R RBEHA HTHEE 1 2| = R s Z Dt -
RIX RBEHA HHEE 1 3| = SRR H s Z D -
RIX RBHA FrHER 1 4| 2R FE 5 Z D, -
R REHA HTHEE 1 5| A= SR F i, =X, J=3:
RIX REHA R 1 6| = SR Bt i, =X =3
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1T N wE | & f= SRR B R X f= 3t P X 7 R&X 5
R REHA HTHEE 1 7| = 2R B s =R X, =3
RIX RBHA FrHER 2 1| =R E I, =R X, -3
RIX RBAHA HTHEE 2 3| = R s Z D -
RX RBEHA HHEE 2 4| = 23R B A 4 Z D -
RIX RBHA FrHEw 2 5| = R B I, Z D -
RIX RBA HHEE 2 6| = E R B, Z D -
RX REHA R 2 7| /= S YR B s =X =3
RIX RBHA FrHER 2 8| = = YR B s =R =3
RIX RBAHA HTHEE 2 9| = YR s f= P DS R
RX RBEHA HHEE 6 2| = SRR H e Z D -
RIX RBHA FrHER 6 3| = R s Z D, -
RIX RBAHA HTHEE 7 2| = R s Z Dt -
RIX RBEHA HTHEE 7 3| = SR H s Z D -
R RBHA FrHER 9 2| R R s =R X, =3
RIX RBAHA HTHEE 9 3| = R s = A X, A
RX REHA HHEE 12 1| 2R I Z D -
RIX RBHA FrHEw 12 2| = R s Z D, -
RX RBEHA HTHEE 12 3| = R s Z D -
RIX RBEHA HHEE 12 5| R IR E I Z D -
RIX RBHA FrHER 12 6| = E R B I Z D, -
RX RBEHA HTHEE 12 7| = R s Z D -
RIX RBEHA HTHEE 13 1| 2R A I Z D -
RIX RBHA HHEE 13 2| = SRR B s Z D, -
R RBEHA HTHEE 14 1| R RE I Z DAt -
RIX RBEHA *HEmE 14 2| = SRR F it e Z D -
RIX RBHA HrHER 15 1|3 R E I, Z D, -
R RBEHA HTHEE 15 4| = IR 5 Z DAt -
RIX RBHA FrHw 21 2| /= R s Z D -
RIX RBA HHEE 21 3| R R s Z D -
RX RBEHA HTHEE 21 4| 2= 2R B A 4 Z Dt -
RIX RBEHA R 22 1| =R B I Z D -
RIX RBHA HHEE 22 2| = R s Z D -
RX RBEHA HTHEE 22 3| = SRR B o 2k -
RIX RBHA FrHEw 23 1| =R E I, Z D -
RIX RAHA HTHEE 23 3| = IR s Z D, -
RX RBEHA HHEE 23 4| = 2R B A 4 a2k -
RIX RBHA FrHER 23 5| = R B I, Z D -
RIX RBHA HTHEE 24 1|3 R E I, Z D -
RX REHA HHEE 24 2| = SR H s Z D -
RIX RBHA FrHER 24 3| = R s Z D -
RIX RBHA HHEE 25 1| =R I f= P XIS Eith —ER R E R A
RX RBEHA HHEE 25 3| = IR HE s Z D -
R RBHA FrHER 25 4| = IR s Z D, -
RX RBAHA HTHEE 25 5| = R B I, Z D -
RIX RBEHA HTHEE 25 6| = IR B I Z D -
R RBHA FrHER 25 7|2 YR s Z D, -
RIX RBHA M 26 1|3 R E I, Z D -
RIX RBEHA *HEmE 26 2| = SRR H st s Z D -
RIX RBHA FrHER 26 3| R E R s Z D, -
RX RBEHA HTHEE 33 2| = R s = A, R
RIX RBEHA HHEE 33 3| = SRR H s Z D -
RIX RBHA FrHER 33 4| = IR s Z D, -
R REHA HTHEE 33 5| A= SR F i, Z Dt -
RIX REHA R 33 7| /= YR B s Z D -
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1T N wE | & f= SRR B R X f= 3t P X 7 ‘X
R REHA HTHEE 33 8| /= ZEHR B i 4 Z Dt -
R RBAHA FrHER 35 3| = R s Z D -
RIX RBAHA HTHEE 35 4| /= SR g Z D -
RX RBEHA HHEE 35 JEES e Z D -
R RBAHA FrHEw 37 0 = SE i B 3t s =R X -3
RIX RBHA HHEE 42 0| = =R I s Z D -
RX REHA AR 1 0| /= 3= Him B st dsg Z D -
R RBHA agesic] 2 0| = =R B sy Z D -
RIX RBHA AR 3 0| = =R E sy Z D -
RX RBEHA FTAEF 4 0| = SR F s Z D -
R RBHA fagesic] 5 0| = = YR B sk Z D, -
RIX REHA AR 6 0| = YRI5 Z Dt -
RIX RBEHA TR 7 0| /= = Him B st tsg Z D -
R RBHA agesic] 8 0| = =R B sy Z D, -
RIX REA FHAEF 9 0| = =R EE s Z D -
RX REHA AR 10 0| /= 3= Him B stttk Z D -
RIX RBHA agesic] 11 1|2 RE I, Z D, -
RX RBEHA AR 11 2| = R s Z D -
RIX RBEHA AR 11 3| = R R s Z D -
RIX RBHA agesic] 12 0| = =R B s Z D, -
RX =Pl AR 13 0| = IR s Z D -
RIX RBEHA AR 14 0| /= 3= Him B st dsg Z D -
RIX RBHA fagesic] 15 0| = =R B sy Z D, -
R RBEHA AR 16 0| = IR s Z DAt -
RIX RBEHA AR 17 0| /= 3= i B st sk Z D -
RIX RBHA fagesic] 18 0| = =R B sy Z D, -
R RBEHA AR 18 1| R RE I Z DAt -
RIX RBHA fagasic] 19 0| /= = YR B st sk Z D -
RIX RBA AR 20 0| = =R I sy Z D -
RX RBEHA FTAEF 21 0| = ZE 4R B i 4 Z Dt -
RIX RBEHA AR 22 1| =R B I Z D -
RIX RBHA fagesic] 22 2| = R s Z D -
RX RBEHA FTAEF 23 0| = ZEHR B 3 4 =R X R
R RBHA fagesic] 24 0 = SE i B 3t i =R X -3
RIX RAHA AR 25 0 = ZE 4R B i i f= P DS =3
RX RBEHA AR 26 0| = ZE 4R B i 4 =R X B
R RBHA fagesic] 27 0 = SE i B St ik =R X =3
RIX RBA FrAEF 27 1|3 R E I, f= P DU B
RX REHA AR 28 0| /= 3= Him B st dsg =X =3
R RBHA agesic] 29 0 = SEHx B 3 s =R =
RIX RBHA AR 30 0 = ZE 4R B iy 4 f= P XIS R
RX RBEHA FTAEF 31 0| /= 3= Him B st sk = X I =3
R RBHA agesic] 32 0 = SEHx B 3t s =R X, =3
RX =Pl AR 33 0| = SR sy f= PRI DU =i
RIX RBEHA AR 34 0| /= 3= Him B st dsg =X =3
R RBHA agesic] 35 0 = S B 3 i =R X, =3
RIX RBA AR 36 0| = SR sy f= P DS A
RIX RBEHA TR 37 0| /= = Him B st sk =X =3
RIX RBHA agesic] 38 0 = SEHx B i g =R X, =
RX RBEHA AR 39 0| = IR EE s f= PR U B
RIX RBEHA AR 39 1| =R B i I =X I =3
RIX RBHA agesic] 40 1|2 R E I, =R, -3
R REHA FTAEF 40 2| = SRR B s Z Dt -
RIX REHA TR 40 3| = S B s Z D -
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1T N wE | & f= SRR B R X f= 3t P X 7 BEX D
R REHA FTAEF 41 1| = EREM I =R X, =3
R RBHA fagesic] 41 2| = YR B s Z D -
RIX RBAHA AR 41 3| = R s Z D -
RX RBEHA FTAEF 42 1| 2RI A=A X R
R RBHA fagesic] 42 2| = R B s Z D -
RIX RBA AR 42 3| R IR s Z D -
RX REHA AR 43 0| /= 3= Him B st dsg =X =3
R RBHA agesic] 43 1| =R E I, =R =3
RIX RBHA AR 43 2| = SRR B s Z D -
RX RBEHA FTAEF 43 3| = IR HE s Z D -
R RBHA fagesic] 44 1|2 REM I =R X, -3
RIX REHA AR 44 2| = R s Z Dt -
RIX RBEHA TR 44 3| /= R s Z D -
R RBHA agesic] 45 1|2 R E I, =R X, =3
RIX REA FHAEF 45 2| = SRR B s Z D -
RX REHA AR 45 3| = R R B s Z D -
RIX RBHA agesic] 46 0 = SEHx B 3 g5 =R, =i
RX RBEHA AR 46 1| R RE I f= PR U R
RIX RBEHA AR 46 2| /= R B s Z D -
RIX RBHA agesic] 46 3| R E R s Z D, -
RX =Pl AR 47 0| = IR s f= PR PUE R
RIX RBEHA AR 47 1| =R B i =X =3
RIX RBHA fagesic] 47 2| R R s Z D, -
R RBEHA AR 47 3| = R 5 Z DAt -
RIX RBEHA AR 48 1| =R B I =X =3
RIX RBHA fagesic] 48 2| f= SRR B s Z D, -
R RBEHA AR 48 3| = R s Z DAt -
RIX RBHA fagasic] 49 0 = SE i B 335 = X =3
RIX RBA AR 49 1| =3 R E I, =R X, =3
RX RBEHA FTAEF 49 2| = SRR B s A=A X R
RIX RBEHA AR 49 3| = S B s Z D -
RIX RBHA fagesic] 49 4| /= SR B g Z D -
RX RBEHA FTAEF 50 0| = ZEHR B 3 4 =R X R
R RBHA fagesic] 50 1| =R E I, =R X -3
RIX RAHA AR 50 2| = SRR B s Z D, -
RX RBEHA AR 50 3| = SRR B S s a2k -
R RBHA fagesic] 51 1| =R I =R X =3
RIX RBA FrAEF 51 2| = R s Z D -
RX REHA AR 51 3| = R B s Z D -
R RBHA agesic] 52 1|2 R I =R =3
RIX RBHA AR 52 2| = YR s Z D -
RX RBEHA FTAEF 52 3| = IR HE s Z D -
R RBHA agesic] 53 0 = SEHx B 3t s =R X, =3
RX =Pl AR 53 1|3 R E I, f= PRI DU =
RIX RBEHA AR 53 2| /= R B s Z D -
R RBHA agesic] 53 3| R R s Z D, -
RIX RBA AR 54 1|3 R E I, f= P DS A
RIX RBEHA TR 54 2| /= YR B s Z D -
RIX RBHA agesic] 54 3| R E R s Z D, -
RX RBEHA AR 55 1| R RE I f= PR U R
RIX RBEHA AR 55 2| /= R YR B s Z D -
RIX RBHA agesic] 55 3| R E R s Z D, -
R REHA FTAEF 56 1|2 EREM I =X, J=3:
RIX REHA TR 56 2| /= R B s Z D -
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1T N wE | & f= SRR B R X =R X o ‘X
R REHA FTAEF 56 3| = SRR B Z Dt -
R RBHA fagesic] 60 0| = =Y B st sk Z D -
R RBAHA AR 61 0| /= =R EE s Z D -
R RBEHA FTAEF 62 0| /= ZEHR B i 4 Z D -
R RBHA fagesic] 63 1| =R E I, Z D -
R RBA AR 63 2| = SRR B s Z D -
R REHA AR 63 3| = R Hth s Z D -
R RBHA agesic] 63 4| = SR s Z D -
R RBHA AR 63 5| = R B, Z D -
R RBEHA FTAEF 63 6| = R B b i Z D -
R RBHA fagesic] 63 7|2 =R s Z D, -
R REHA AR 63 9| = R s Z Dt -
RIX RBEHA TR 64 0| = SR F it s Z D -
R RBHA agesic] 65 0| = =R B sy Z D, -
R REA FHAEF 66 0| = =R EE s Z D -
R REHA AR 67 0| = SR F itz Z D -
R RBHA agesic] 68 0| = =R I s Z D, -
R RBEHA AR 69 0| = IR EE s Z D -
R RBEHA AR 70 0| /= SRR F it iz Z D -
R RBHA agesic] 71 0| = =R B s Z D, -
R =Pl AR 72 0| = IR s Z D -
RIX RBEHA 2 7 0| = SR F itz Z D -
RIX RBHA 2T 7 1| 2RI 2k -
R RBEHA iz 7 2| = R s Z DAt -
RIX RBEHA 2 7 3| = SR H i Z D -
RIX RBHA N 8 0| = =R B sy Z D, -
R RBEHA iz 9 1| R RE I Z DAt -
R RBHA N 9 2| /= R s Z D -
R RBA 2 13 1| =3 R E I, 2% -
R RBEHA iz 20 1|2 E R Z Dt -
R RBEHA N 20 3| /= R R s Z D -
R RBHA 2T 20 4| = IR s 2k -
R RBEHA iz 20 JEES e 2k -
R RBHA 2 22 0| = =Y B st sk Z D -
R RAHA 2 23 1|2 RIS 2k -
R RBEHA iz 23 3| = SRR B S s a2k -
RIX RBHA 2 23 4| = IR s Z D -
R RBHA 2 24 0| = =R s Z DAt -
R REHA 2 26 0| = SR F s Z D -
R RBHA (AN 27 0| = =R B sy Z D -
R RBHA S 1 1| =R I 2k -
R RBEHA 2Tk 1 2| = SRR H e Z D -
R RBHA 2Tk 2 0| = =R B sy Z D, -
R RBAHA S 3 0| = SR sy 2k -
RIX RBEHA 2Tk 4 0| = SR H iz Z D -
R RBHA 2Tk 5 0| = = YR B sy Z D, -
R RBHA S 6 0| = SR sy Z DAt -
R RBEHA 2Tk 7 0| = SR F itz Z D -
R RBHA 2Tk 8 0| = =R B s Z D, -
R RBEHA 2T 9 1| R RE I Z D -
R RBEHA 2Tk 9 2| = SRR Bt e Z D -
RIX RBHA 2Tk 10 1| 2RI i =R, -3
R REHA 2 TR 10 2| = SRR B s Z Dt -
R REHA 2Tk 11 0| /= =Y B st sk =X =3
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R REHA ZF& 12 0| /= ZE 4R B i i =R X, =3
R RBAHA 2Tk 13 1| 2RI I =R X, -3
RIX RBAHA S 13 2| = R s f= PRI DS R
RX RBEHA 2Tk 14 0| /= ZEHR B i 4 A=A X B
R RBHA 2Tk 15 0 = SE i B 3t s =R X -3
RIX RBA 2Tk 16 0 = ZE 4R B i i f= 3 s =i
RX REHA 2Tk 16 1| =R B i =X =3
R RBAHA 2Tk 16 2| = SR B s Z D -
RIX RBAHA S 16 3| = SRR B s 2k -
RX RBEHA 2Tk 17 0| /= 3= Him B st sk = X I =3
R RBHA 2Tk 17 1|2 REM I =R X, -3
RIX RBAHA S 18 0| = YRI5 f= PRI DS =i
RIX RBEHA 2Tk 19 0| /= = Him B st tsg =X =3
R RBHA 2Tk 20 0 = S B 3t s =R X, =3
RIX RBAHA S 21 0| = =R EE s 2k -
RX REHA 2Tk 21 1| =R B i =X =3
RIX RBHA 2Tk 22 0 = SEHx B 3 g5 =R, =i
RX RBEHA 2T 23 0| = IR EE s f= PR U B
RIX RBEHA 2Tk 24 0| /= 3= Him B st sk = X I =3
RIX RBHA 2Tk 25 0 = SEHx B i g =R, -3
RX RBEHA 2T 26 0| = IR s f= PR PUE B
RIX RBEHA 2Tk 27 1| =R B i =X =3
RIX RBHA 2Tk 27 2| = SRR B s 2k -
R RBEHA 2T 27 3| = R 5 Z DAt -
RIX RBEHA 2Tk 28 1| =R B I =X =3
RIX RBAHA 2Tk 28 2| f= SRR B s Z D, -
R RBEHA 2T 28 3| = R s Z DAt -
RIX RAHA 2Tk 29 1| 2R RE I = X =3
RIX RBAHA 2Tk 29 2| = R s 2% -
RX RBEHA 2Tk 29 3| = 2R B s Z Dt -
RIX RBHA 2Tk 30 1| 2RI A I =X =3
RIX RBAHA 2Tk 30 2| = R s 2k -
RX RBEHA 2Tk 30 3| = SRR B o 2k -
R RBHA 2Tk 31 1|2 REM I =R X -3
RIX RAHA 2Tk 31 2| = SRR B s 2k -
RX RBEHA 2Tk 31 3| = SRR B S s a2k -
R RBHA 2Tk 32 1| =R I =R X =3
RIX RBHA S 32 2| = R s Z DAt -
RX REHA 2Tk 32 3| = R B s Z D -
R RBAHA 2Tk 33 1| 2RI i =R =3
RIX RBHA S 33 2| = YR s 2k -
RX RBEHA 2Tk 33 3| = IR HE s Z D -
R RBHA 2Tk 34 1|2 R I =R X, =3
RX RBAHA S 34 2| = YR s 2k -
RIX RBEHA 2Tk 34 3| /= R B s Z D -
R RBHA 2Tk 35 1| 2R RE i =R X, =3
RIX RBHA S 35 2| = R s Z DAt -
RIX RBEHA 2Tk 35 3| /= R R B s Z D -
RIX RBHA 2Tk 36 1| 2RI i =R X, -3
RX RBEHA 2T 36 2| = R s Z Dt -
RIX RBEHA 2Tk 36 3| = R R s Z D -
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RIX REHA 2Tk 37 3| /= R s Z D -




ihe BFREISEERTE RAMAAHE (—F411K)

SMb&E4 52 5HRE

1T N wE | & f= SRR B R X =R X o ‘X
R REHA ZF& 38 1| = EREM I =R X, =3
R RBHA 2Tk 38 2| = YR B s Z D -
R RBHA 2Tk 38 3| = SRR B s 2k -
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R RBHA 2Tk 40 0| /= = Y B st sk Z D -
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R REHA 2Tk 42 0| = SR F s Z D -
R RBHA 2Tk 43 0| = =R B sy Z D -
R RBAHA S 44 0| = =R E sy Z D -
R RBEHA 2Tk 45 0| = SR F s Z D -
R RBHA 2Tk 46 0| = = YR B sk Z D, -
R RBAHA S 47 0| = YRI5 2k -
RIX RBEHA 2Tk 48 0| = SR F it s Z D -
R RBHA 2Tk 49 0| = =R B sy Z D, -
R RBAHA S 50 0| = =R EE s 2k -
R REHA 2Tk 51 0| = SR F itz Z D -
R RBHA 2Tk 52 0| = =R I s Z D, -
R RBEHA 2T 53 0| = IR EE s Z Dt -
R RBEHA 2Tk 54 0| /= SRR F it iz Z D -
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R RBEHA 2T 56 0| = IR s Z DAt -
RIX RBEHA 2Tk 57 0| = SR F itz Z D -
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R RBEHA 2Tk 59 0| = IR s Z DAt -
R RBEHA 2Tk 60 0| = SR F itz Z D -
R RBHA 2Tk 61 0| = =R B sy Z D, -
R RBEHA 2T H] 17 3| = R s Z DAt -
RIX RBHA 2T H] 18 2| /= R s Z D -
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R RBEHA 2T H] 23 7| = 2R B s Z Dt -
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R RBEHA IR 1 3| = SRR B o 2k -
RIX RBHA IR 1 4| = SR B s Z D -
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RIX RBHA IR 1 7|2 =R s Z D -
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RX RBEHA ~FEf 8 2| = 2R B i Z D
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RIX RBAHA NS 2 1|3 R E I, = X,
RX RBEHA JIAS 2 2| = SRR H e Z D
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RIX RBAHA NS 3 4| = SR s Z Dt
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RIX RBHA NS 4 2| = SR H i g Z D,
RX RBEHA NS 4 3| = R s Z Dt
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RIX RBHA NS 5 2| = R s Z D,
RX RBEHA NS 5 3| = R 5 Z Dt
RIX RBEHA NAs 6 1| =R B i =X
RIX RBHA NS 6 2| = SRR B s Z D,
R RBEHA NS 6 3| = R 5 Z DAt
RIX RBEHA NS 7 1| =R B I =X
RIX RBHA NS 7 2| =R H i 5 Z D,
R RBEHA NS 7 3| = R s Z DAt
RIX RBHA NS 8 1| =R E I, = X
RIX RBA NS 8 2| = SRR B s Z D
RX RBEHA NS 8 3| = 2R B s Z Dt
RIX RBEHA NS 9 1| =R B I =X
RIX RBHA NS 9 2| = SRR B s =R X,
RX RBEHA JIAS 9 3| = SRR B o 2k
R RBHA NS 9 4| = SR B s Z D
RIX RBA NS 10 1|2 RIS = A X I,
RX RBEHA JIAS 10 2| = ZE AR B o a2k
R RBHA NS 10 3| = R s Z D
RIX RBHA NS 11 1|3 R E I, = A X,
RX REHA NS 11 2| = SR H s Z D
R RBHA I 11 3| = R s Z D
RIX RBHA NS 12 1| =R I f= P XIS
RX RBEHA JIAS 12 2| = SRR H e Z D
R RBHA NS 12 3| R R s Z D,
RX RBAHA NS 12 4| = SR s Z Dt
RIX RBEHA NAs 13 1| =R B i =X
R RBHA NS 13 2| R R s Z D,
RIX RBHA NS 13 3| = R s Z Dt
RIX RBEHA NS 14 1| =R B i, =X
RIX RBHA NS 14 2| = R s 2k
RX RBEHA NS 14 3| = R s Z Dt
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R RBHA NAs 19 3| = R s Z D,
RIX RBAHA NS 19 4| = SR s Z Dt
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R RBHA NS 20 2| R R s Z D,
RIX RBAHA NS 20 3| = R s Z Dt
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RIX RBHA NS 21 2| = R s =R,
RX RBEHA NS 21 3| = R s Z Dt
RIX RBEHA NS 21 4| = SRR Bt s Z D
RIX RBHA NS 22 1|2 R E I, =R,
RX RBEHA NS 22 2| = R s Z Dt
RIX RBEHA NS 22 3| = SR H s Z D
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R RBEHA NS 23 2| = R s =X
RIX RBEHA NS 23 3| = SR H i Z D
RIX RBHA NS 23 4| = IR s Z D,
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RIX RBHA NS 24 2| = SRR H st s Z D
RIX RBA NS 24 3| R R s Z Dt
RX RBEHA NAs 25 1|2 E R A=A X
RIX RBEHA NS 25 2| = SRR H st s Z D
RIX RBHA NS 25 3| R R s Z Dt
RX RBEHA JIAS 26 1|2 EREM I =R X
R RBHA NS 26 2| = R B s Z D
RIX RBA NS 26 3| = IR s Z Dt
RX RBEHA JIAS 27 0| = ZE 4R B i 4 =R X
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R RBHA NS 33 2| R YR s Z D,
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R RBHA NS 34 2| =R H s Z D,
RIX RBHA NS 34 3| = R s Z Dt
RIX RBEHA NS 35 1| =R B i, =X
RIX RBHA NS 35 2| = R s Z D,
RX RBEHA NS 35 3| = R s Z Dt
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RIX RBHA NS 36 2| = R s Z D,
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ihe BFREISEERTE RAMAAHE (—F411K)

SMb&E4 52 5HRE

1T N = f= SRR B R X =R X o BX 5
R REHA NS 37 2| = SRR B i =R X,
R RBHA NS 37 3| = R s Z D
RIX RBHA NS 37 4| = SR s Z D
RX RBEHA JIAS 38 1| 2RI A=A X
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R RBHA I 39 1| =R E I, =R
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RX RBEHA JIAS 39 3| = IR HE s Z D
R RBHA NS 39 4| = IR s Z D,
RIX RBAHA NS 45 0| = YRI5 Z Dt
RIX RBEHA NS 46 0| = SR F it s Z D
RIX RBHA B3R 1 0| = =R B sy Z D,
RIX RBAHA AR 2 0| = =R EE s Z Dt
RX REHA AR 3 0| = SR F itz Z D
RIX RBHA B3R 4 0| = =R I s Z D,
RX RBEHA AR 5 0| = IR EE s Z Dt
RIX RBEHA AR 6 0| /= SRR F it iz Z D
RIX RBHA B3R 7 0| = =R B s Z D,
RX RBEHA AR 8 0| = IR s Z Dt
RIX RBEHA AL 1 0| = SR F itz Z D
RIX RBHA AR 2 1|3 R E I, Z D,
R RBEHA AL 2 2| = R s Z Dt
RIX RBEHA AL 4 0| = SR F itz Z D
RIX RBHA AL 5 0| = =R B sy Z D,
R RBEHA AL 6 0| = IR 5 Z Dt
RIX RBHA AL 7 0| /= = YR B st sk Z D
RIX RBA AL 8 1|2 REM I Z D
RX RBEHA AL 8 2| = SRR B s Z Dt
RIX RBEHA AL 10 0| /= =t B st dsg Z D
RIX RBHA ZEEN 1 0 = ZE 4R B i i =R X,
RX RBEHA LZEER 3 0| = ZEHR B 3 4 2k
R RBHA ZEEH 4 0| = =Y B st sk =R X
RIX RBA ZEE 7 0 = ZE 4R B i i = A X I,
RX RBEHA LZEER 12 0| = ZE 4R B i 4 =R X
R RBHA ZEEH 14 0| = = YR B sk =R X
RIX RBA RINK T AR 1 0| = =R s Z Dt
RX REHA RINK FAR 2 0| = SR F s Z D
R RBHA RINK T AR 3 0| = =R B sy Z D
RIX RBHA RINK T AR 4 0| = =R EE sy Z D
RX RBEHA RINK TAR 5 0| = SR F s Z D
R RBHA RINK T AR 6 0| = =R B sy Z D,
RX =Pl RINK T AR 7 0| = SR sy Z Dt
RIX RBEHA RINKTAR 8 0| = SR H iz Z D
R RBHA RINK T AR 9 0| = = YR B sy Z D,
RIX RBA RINK T AR 11 0| = SR sy Z Dt
RIX RBEHA RINKTAR 13 0| = SR F itz Z D
RIX RBHA RINK T AR 15 0| = =R B s Z D,
RX RBEHA RINK T AR 16 0| = IR EE s Z Dt
RIX RBEHA RINK T AR 17 0| /= SR F itz Z D
RIX RBHA it 2 1| 2RI i Z D,
R REHA iR 2| = SRR B s Z Dt
RIX REHA AL 0| /= =Y B st sk Z D
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RX RBEHA it 5 1| 2RI Z D
RIX RBHA Pt 6 0| /= = Y B st sk Z D
RIX RBA LR 7 0 = ZE 4R B i i 2%
RX REHA it 8 0| = SR F s Z D
RIX RBHA hitiR 8 1| =R E I, Z D
RIX RBAHA LR 8 3| = SRR B s 2k
RX RBEHA it 8 5| R IR E I Z D
RIX RBHA it 9 2| = R B s Z D,
RIX RBAHA it 10 1|3 R E I, Z Dt
RIX RBEHA it 10 3| = SR H s Z D
RIX RBHA it 12 0| = =R B sy Z D,
RIX RBAHA AR 13 0| = =R EE s Z D
RX REHA it 13 2| = SR Hth e Z D
RIX RBHA it 14 0| = =R I s Z D,
RX RBEHA it 15 1| R RE I Z D
RIX RBEHA it 15 2| = SRR H st s Z D
RIX RBHA it 15 3| R E R s Z D,
RX RBEHA it 16 1| R RE I Z D
RIX RBEHA hitwmiErm 1 1| 2R A I Z D
RIX RBHA it EmiE 1 2| = SRR B s 2k
R RBEHA hitwmIE 2 1| R RE I Z Dt
RIX RBEHA AL ERYE P 2 2| = SRR F it e Z D
RIX RBHA it EmiE 2 3| = R s Z D,
R RBEHA hitwmIErm 3 1| R RE I Z Dt
RIX RBHA AL ERIE Y 3 2| /= R s Z D
RIX RBA it EmIE 3 3| R R s Z D
RX RBEHA hitmiE 3 4| 2= 2R B A 4 Z Dt
RIX RBEHA At ERIE Y 4 0| /= =t B st dsg Z D
RIX RBHA it EmiE 17 0 = ZE 4R B i i 2k
RX RBEHA hitmiErm 27 1|2 EREM I 2k
RIX RBHA At ERIE 27 2| = R B s Z D
RIX RAHA it EmIE 27 3| = SRR B s 2k
RX RBEHA hitwmiE 27 4| = 2R B A 4 a2k
RIX RBHA it ERIE 29 0| = = YR B sk Z D
RIX RBHA hitwmIE 30 0| = =R s Z D
RX REHA hitwmiE 31 0| = SR F s Z D
RIX RBHA AL ERIE 40 1| =R E I, Z D
RIX RBHA hitEmIE 40 2| = SRR B s Z D
RX RBEHA hitwmiE 41 1| 2R I Z D
RIX RBHA it EmIE 41 2| R YR s Z D,
RX RBAHA it EmIE 42 1|3 R E I, Z D
RIX RBEHA hitwmiEr 42 2| = SRR Bt s Z D
RIX RBHA it EmIE 43 0| = = YR B sy Z D,
RIX RBHA hitwmIEr 48 0| = SR sy Z D
RIX RBEHA AL ERYE P 49 1| 2R A I Z D
RIX RBHA it EmiE 49 2| = R s Z D,
RX RBEHA REFILT 1 1| R RE I Z D
RIX RBEHA HEEILT 1 2| = SRR Bt e Z D
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RIX REHA REF LT 4 3| /= R s Z D
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RIX RBAHA REEILT 10 2| = SRR B s Z Dt
RX RBEHA HEEFILT 10 3| = IR HE s Z D
R RBHA REFLT 10 4| = IR s Z D,
RIX RBAHA REFLT 10 5| = R B I, 2k
RIX RBEHA HEEILT 10 6| = R B b I Z D
R RBHA REFLT 12 1| 2= SRR H 15 Z D,
RIX RBAHA REFLT 12 2| = R s Z Dt
RX REHA HEEILT 12 3| = R H s Z D
RIX RBHA REFLT 14 1| 2R i Z D,
RX RBEHA REFILT 14 2| = R s Z Dt
RIX RBEHA HEEILT 15 0| /= SRR F it iz Z D
RIX RBHA REFLT 16 1|2 R E I, Z D,
RX RBEHA REFILT 16 2| = R s Z Dt
RIX RBEHA HEEILT 16 3| = SR H s Z D
RIX RBHA REFLT 16 4| /= SR B g Z Dt
R RBEHA REEILT 16 5| = R B Z DAt
RIX RBEHA REF LT 16 6| = F R E I Z D
RIX RBHA REFLT 17 1| =R H I8 Z D,
R RBEHA REEILT 17 2| = R s Z DAt
RIX RBHA REEF LT 17 3| = R s Z D
RIX RBA REFLT 18 1|2 REM I Z Dt
RX RBEHA HEEILT 18 2| = SRR B s Z Dt
RIX RBEHA REF LT 18 3| /= R R s Z D
RIX RBHA REFLT 19 1|2 RIS Z Dt
RX RBEHA HEEILT 19 2| = 2R B o 2k
R RBHA REEF LT 19 3| = R s Z D
RIX RBA REFLT 19 4| /= SR g 2k
RX RBEHA HEEILT 19 JEES e a2k
R RBHA REEF LT 19 6| = E R Iz Z D
RIX RBHA REFLT 19 7| = R s Z Dt
RX REHA ERTE 1 1| R R I Z D
R RBHA FREE 1 2| = SRR H it s Z D
RIX RBHA FRTER 2 2| = SRR B s 2k
RX RBEHA FRTER 2 3| = IR HE s Z D
R RBHA FRTER 3 0| = =R B sy Z D,
RX =Pl FRTEE 4 0| = SR sy 2k
RIX RBEHA ERTE 5 0| = SR H iz Z D
RIX RBHA FRTER 6 1|2 R E I, Z D,
RIX RBA FRTER 6 2| = R s Z DAt
RIX RBEHA ERTE 8 1| 2R A I Z D
RIX RBHA FRTER 8 2| = R s Z D,
RX RBEHA FRTEE 9 3| = R s Z Dt
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R RBHA FRTER 17 0| = = YR B sk Z D,
RIX REHA FRTEE 19 1|3 R E I, 2k
RIX RBEHA ERTE 19 2| = SRR H s Z D
R RBHA FRTER 20 1|2 R E I, Z D,
RIX REA FRTER 20 2| = R s 2k
RX REHA ERTE 21 0| = SR F itz Z D
RIX RBHA FRTER 21 1|2 RE I, Z D,
RX RBEHA FRTEE 21 2| = R s Z Dt
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RX =Pl FRTER 23 2| = R s Z DAt
RIX RBEHA ERTE 24 0| = SR F itz Z D
RIX RBHA FRTER 25 1|3 R E I, 2k
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RIX RBEHA ERTE 26 1| 2R A I Z D
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R RBHA FRTER 32 2| = SRR H st e Z D
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R RBHA FREE 34 0| = = YR B sk Z D
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RIX RBA FRTER 43 2| = R s Z DAt
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RIX RBHA FRTER 46 2| = R s Z D,
RX RBEHA FRTEE 46 3| = R s Z Dt
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R RBHA FREE 52 2| = R B s Z D -
RIX RBA FRTER 53 1|3 R E I, 2% -
RX REHA ERTE 53 4| = SR Bt s Z D -
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RIX RBHA FIERL 3 23| = R B I, Z D
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RIX RBHA FIHESR 3 25| = R B I, Z D
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RX RBEHA FIRER 5 4| = SRR Bt s Z D
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RIX RBEHA FIE T 10 1| =R B i I =X I =3
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RIX RBEHA ERITH] 4 3| /= R R s Z D -
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RIX RBEHA ERFH 5 2| /= R R B s Z D -
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RIX RBA EESFH 13 3| = R s Z D -
RX REHA EEFE 13 4| = SR B s Z D -
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RIX RBEHA ERESFH 34 4| = SR s Z D
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RIX RBEHA ERESFH 73 7| = SR B s Z D
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R R 25 0| = ZE 4R B i 4 =X,
R IR 26 0| /= =Y B st sk =X
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1T = f= SRR B R X =R X o BX 5
R R 27 0| /= ZE 4R B i i =R X,
R IR 28 0| = =Y B st sk =R X,
R EN 29 0 = ZE 4R B iy i = A X,
R R 30 0| /= ZEHR B i 4 A=A X
R ESIN 31 0| /= = Y B st sk =R X
R =R 32 0 = ZE 4R B i i =R X,
R SR 33 0| /= 3= Him B st dsg =X
R IR 34 0| = =R B sy =R
R R 35 0 = ZE 4R B i 45 f= P DS
R IR 36 0| /= 3= Him B st sk f= b X 35
R ESIN 37 0| = = YR B sk =R X,
R EN 38 0| = YRI5 = A X,
RIX IR 39 0| /= = Him B st tsg =X
R ESHN 40 0| = =R B sy =R X,
R R 41 0| = =R EE s = A X,
R ESN 42 0| /= 3= Him B stttk =X
R ESHN 43 1|2 RE I, =R,
R R 43 2| = R s Z Dt
R ESIN 44 1| 2R I Z D
R ESHN 44 2| = R s Z D,
R R 45 1| R RE I Z DAt
RIX ESIN 45 2| = SRR H it s Z D
R EIN 45 3| = SRR B s 2k
R R 46 1| R RE I Z DAt
R ESIN 46 2| = SRR F it e Z D
R R 47 0| = =R B sy Z D,
R R 48 1| R RE I Z DAt
R IR 48 2| /= R s Z D
R EIN 49 1|2 REM I 2%
R R 49 2| = SRR B s Z Dt
R IR 50 0| /= =t B st dsg Z D
R EIN 51 0 = ZE 4R B i i 2k
R R 52 0| = ZEHR B 3 4 2k
R IR 53 2| = R B s Z D
R R 54 0 = ZE 4R B i i 2k
R EVN 55 0| = ZE 4R B i 4 a2k
R ESVN 56 0| = = YR B sk Z D
R R 57 0| = =R s Z DAt
R SR 58 0| = SR F s Z D
R IR 59 0| = =R B sy Z D
R R 60 0 = ZE 4R B iy 4 2k
R IR 61 0| = SR F s Z D
R SR 62 0| = =R B sy Z D,
R EN 63 0| = SR sy 2k
RIX IR 64 0| = SR H iz Z D
R SR 65 0| = = YR B sy Z D,
R R 66 0| = SR sy Z DAt
R ESIN 67 0| = SR F itz Z D
R ESHN 68 0| = =R B s Z D,
R R 69 1| R RE I Z Dt
R ESIN 69 2| = SRR Bt e Z D
R ESHN 69 3| R E R s Z D,
R R 69 4| = 2R B A 4 Z Dt
R IR 69 5| = R B i, Z D
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1T N = f= SRR B R X =R X o BX 5
R R =R 70 0| /= ZE 4R B i i Z Dt
RIX IR =S 71 0| = =Y B st sk Z D
R EN 2ES 72 0| /= =R EE s 2k
R R =R 73 0| /= ZEHR B i 4 Z D
RIX ESIN =S 74 1| 2RI I Z D
R =R 2ES 74 2| = SRR B s 2%
R SR = 75 0| = SR F s Z D
RIX IR =R 76 0| = =R B sy Z D
R R 2k 77 0| = =R E sy 2k
R IR = 78 0| = SR F s Z D
RIX ESIN =R 79 0| = = YR B sk Z D,
R EN 25 80 0| = YRI5 2k
RIX IR = 81 0| = SR F it s Z D
RIX ESHN =R 82 0| = =R B sy Z D,
R R 2k 83 0| = =R EE s 2k
R ESN = 84 0| = SR F itz Z D
RIX ESHN =R 85 0| = =R I s Z D,
R R =R 86 0| = IR EE s Z Dt
RIX ESIN =HEE 1 0| /= 3= Him B st sk Z D
RIX ESHN EHEH 3 1|2 R E I, Z D,
R R EFHER 3 2| = R s Z DAt
RIX ESIN EHER 4 0| /= 3= Him B st dsg Z D
R IR EFHER 4 2| = SRR B s 2k
R R EFHER 4 3| = R 5 Z DAt
RIX ESIN EHEH 4 4| = SRR F s Z D
R ESYN FHER 5 0| = =R B sy Z D,
R R EFHER 5 2| = R s Z DAt
R IR EHER 5 3| = R s Z D
R ESYN EHER 6 0 = ZE 4R B i i 2%
R R EFHER 6 2| = SRR B s Z Dt
R IR EHE 6 3| = SRR H s Z D
R IR EFHER 7 0 = ZE 4R B i i 2k
R R EFHER 8 1|2 EREM I Z Dt
R IR FHES 8 2| = R B s Z D
R SR EHER 8 3| = SRR B s 2k
R EVN EFHER 9 0| = ZE 4R B i 4 Z Dt
R ESVN FHES 10 0| = = YR B sk Z D
R R EHER 12 0| = =R s Z DAt
R SR EFHER 13 2| = SR H s Z D
RIX IR EHEE 14 1| 2RI i Z D
R R EHEH 14 2| = SRR B s 2k
R IR EHER 15 0| = SR F s Z D
RIX SR EHER 16 0| = =R B sy Z D,
R EN EFHER 16 2| = YR s 2k
RIX IR FHE 17 1| R R I Z D
RIX SR EHER 17 2| =R H s Z D,
R R EHER 18 1|3 R E I, Z DAt
RIX ESIN EHEH 19 1| 2R A I Z D
RIX ESHN EHEH 19 2| = R s Z D,
R R EFHER 21 0| = IR EE s Z Dt
RIX ESIN FHES 22 1| =R B i I Z Dt
RIX ESHN EHER 22 2| = R H it g Z D,
R R EFHER 22 4| = 2R B A 4 Z Dt
R IR EHER 22 5| = R B i, Z D
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1T N wE | & f= SRR B R X =R X o BX 5
R R EFHER 22 6| f= SR F i Z Dt
R IR FHES 22 7= SR H s Z D
R SR EFHER 23 2| = R s 2k
R R EFHER 23 3| = SRR B i Z D
R ESIN FHES 24 0| /= = Y B st sk Z D
R SR EHEH 24 2| = SRR B s 2%
R SR EFHER 30 1| R R I Z Dt
RIX IR EHEE 30 2| = R s Z D
R R EHER 31 0 = ZE 4R B i 45 2k
R IR EHER 32 0| = SR F s Z D
RIX ESIN EHEE 33 0| = = YR B sk Z D,
R EN EFHTES 1 1|3 R E I, 2k
RIX IR EHTES 1 2| /= R B s Z Dt
RIX ESHN EFHTES 1 3| R R s Z D,
R R EHTES 2 3| = R s 2k
R ESN EHTES 2 4| = SR F s Z Dt
RIX ESHN EHTES 2 5| = R B I Z D,
R R EFHTES 2 6| = R I I Z Dt
RIX ESIN EHETES 3 1| =R B i Z Dt
RIX ESHN EHTES 3 2| = R s Z D,
R R EFHTES 3 3| = R 5 Z Dt
RIX ESIN EHTES 4 0| /= 3= Him B st dsg Z Dt
R IR EHTES 5 0 = ZE 4w B i i 2k
R R EHTES 6 0| = IR s Z DAt
RIX ESIN EHETHES 7 0| /= 3= i B st sk Z Dt
R R EHTES 8 1|3 R E I, Z D,
R R EHTES 8 2| = R s Z DAt
RIX IR EHETES 8 3| = R s Z D
R EIN EHTES 9 1| =3 R E I, 2%
R R FHTES 9 2| = SRR B s Z Dt
RIX IR EHETHES 10 1| =R B I Z D
R IR EHTES 10 3| R R s Z D
R R EHTES 12 0| = ZEHR B 3 4 2k
RIX IR EHETHES 15 0| = =Y B st sk Z D
R SR EFHTES 16 0 = ZE 4R B i i 2k
R EVN EHTES 19 0| = ZE 4R B i 4 a2k
RIX ESVN EHETHES 20 0| = = YR B sk Z D
R R EHTES 21 0| = =R s Z Dt
R SR EHTES 23 0| = SR F s Z D
RIX IR EHTHES 24 1| 2RI i Z D
R R EHTES 24 2| = YR s Z D
R IR EHTES 24 3| = IR HE s Z D
RIX SR EFHTES 24 4| =R FE 5 Z D,
R EN EHTES 24 5| = R B I, Z Dt
RIX IR EHTES 24 6| = IR B I Z D
RIX SR EFHTES 24 7| =R H g Z D,
R R EHTES 24 8| = YR I s Z Dt
RIX ESIN EHETHES 24 9| = SR F it s Z D
RIX ESHN EHTES 24 10| =R E I, Z D,
R R EFHTES 24 11| R IRE I Z Dt
RIX ESIN EHETES 24 12| =3 R B i Z D
RIX ESHN EHTES 24 13| IR E I, Z D,
R R EFHTES 24 14| 2 EREM I Z Dt
RIX IR EHETHES 24 15| = SR B Is, Z D
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ITEX INF E5 B EREMIEX o B A XEX 5
RX =R KHETES 25 0|2 R E Hb I Z D1t
RX ER EHETES 26 1| B RE I Z Dty
RX =R EHET &SR 26 2| B IR B iz Z Dfth
RX =R KHETES 26 3| B IR E I Z Dty
RX ER EHETES 26 4| B EEIRE I Z Dty
REX =R EHETES 26 5| B ZERE I, Z Dfth
RX =R EHETHESR 27 0| B R B b iz Z Dty
RX ER EHETES 28 0|2 = B Hh iz, Z Dty
RX E=R EHETES 29 1| B IR E I, Z Ot
RX =R EHET &SR 29 2| B EERE b iz Z Dty
RX ER EHETES 29 3| R IR E I Z Dty
RX =R KHETES 29 4| R EEIR B Iz Z D1t
RX =R EHET &SR 30 1| B EEIRE S, Z Dfth
RX =R EHETES 30 2| BEIRE I Z Dfth
RX E=R KHETES 30 3| B IR Iz Z Dfth
RX =R EHETHESR 31 1| B EIRE S, Z Dty
RX =R EHET &S 31 2| B IR B bz Z Dfth
RX =R KHETES 31 3| B IR E Iz Z D1t
RX =R EHETES 31 4| R IR B b iz Z Dty
RX =R EHET &S 31 5| 2 2R EHh i, Z Dfth
RX =R KHETHES 31 6| = IR Eih i, Z D1t
RX =R EHET &SR 31 7| B R E iz Z DAty
REX =R EHETES 32 0| B R E bz Z D1t
RX =R KHETES 34 1| B ERE IS, Zz D1ty
RX =R EHT &S 34 2| B ERE iz Z Dfth
REX =R EHET &S 36 0|2 =R B Hh iz Z D1t
RX =R KHETES 37 1| B EIRE S, Zz D1ty
RX =R EHT &S 37 2| BB iz Z Dfth
RX =R EHETES 37 3| B ERE iz Z Dfth
RX =R KHETES 38 0|2 R E H I Z D1t
RX ER FHEBN 1 0| B R E iz B X5
REX =R FHEFRN 2 0| B R E bz B X5
RX =R FHFRN 3 1| BEIRE M, 2= b X 35
RX =R FHEFRN 4 0| 2R E iz B X5
RX =R FHEFRN 5 0|2 =R B Hh iz 2R XI5
RX =R FHFRN 6 0|2 IR E Hb I 2= b X 35
RX ER FHEFRN 7 0| 2R E iz B X5
RX E=R FHFN 8 0|2 =R B Hh iz Z Dfth
RX =R FHEFRN 9 0| B R E iz B X
RX ER EHEBN 10 0| 2R E iz B X5
RX EDN FHEHBN 11 0| B R E b iz B R XI5
RX =R FHEFRN 12 1| B IRE M, 2 X I3
RX =R PNEaE VAN 12 2| 2R B iz Z Dfth
RX =R FHFN 12 3| R R E I Z Dt
REX =R EHFEN 12 4| B IR E g ZF Dt
RX =R PNEaE VAN 12 5|2 2R EHh i, Z Dfth
RX E=R FHFN 12 6| = IR E i, 2R X 35
RX =R FHEFRN 13 1| BEEIRE M, Z D1t
RX =R FHEBN 13 2| B IR B bz B X5
RX =R FHFRN 13 3| B IR E Iz Z D1ty
RX =R EHEFRN 13 4| 2 ZE R E DI, 2 X 15
RX =R FHEFRN 14 1| BEIRE S, Z Dfth
RX =R FHFRN 14 2| R IR E I Z D1t
RX ER FHEFRN 15 1| B EEIRE I, Z Dfth
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1T N = f= SRR B R X =R X o BX 5
R R ZHEFHN 15 2| = SRR B i Z Dt
RIX IR EHFBN 15 3| = R s Z D
RIX SR EHFEN 16 1|3 R E I, = A X,
RX R FHEFHN 16 2| = 2R B i Z D
RIX ESIN EHFEN 16 3| = R R s =R X
RIX SR FHERN 17 1|3 R E I, =R X,
RX SR FHEFHN 17 2| = SR H s Z Dt
RIX IR EHFEN 17 3| = R s =R
RIX R ZHEFHN 18 1|3 R E I, f= P DS
RX IR FHEFHN 18 2| /= Y B s = X I
RIX ESIN EHFEN 19 0| = = YR B sk =R X,
RIX EN ZHEFHN 20 0| = YRI5 = A X,
RIX IR EHFHRN 21 1| =R B i Z Dt
RIX ESHN EHFEN 21 2| R R s =R X,
RIX R ZHEFHN 22 0| = =R EE s = A X,
RX ESN FHEFHN 23 0| /= 3= Him B stttk =X
RIX ESHN FHERN 24 1| 2R i Z D,
RX R ZHEFHN 24 2| = R s = A,
RIX =R EHBEFEN 25 0| =R E M5 = A [X 15,
RIX ESHN FHEFRN 26 0| = =R B s =R,
RX R ZHEFHN 27 1| R RE I Z DAt
RIX ESIN EHFHRN 30 0| /= 3= Him B st dsg Z Dt
RIX IR FHEFRN 31 0| = =R B sy =R X,
R R ZHEFHN 32 1| R RE I =X
RIX =R EHBEFEN 32 2| REERE 5 = X g,
RIX ESYN ZHRE L 1 1|3 R E I, = X,
R R ZHRE L 1 2| = R s Z DAt
RIX IR FHRE L 1 3| = R s = X
RIX ESYN ZHRE L 2 1| =3 R E I, =R X,
RX R ZHRE L 2 2| = SRR B s Z Dt
RIX IR ZHRE W 3 0| /= =t B st dsg Z D
RIX IR ZHRE L 4 0| = =R B sy =R X,
RX R ZHRE L 5 0| = ZEHR B 3 4 =R X
RIX IR FHRE L 7 0| = =Y B st sk =R X
RIX SR ZHRE L 8 1|3 R E I, = A X I,
RX EVN ZHRE L 8 2| = ZE AR B o a2k
RIX ESVN ZHRE L 8 3| = R s =R X
RIX R ZHRE 9 1|3 R E I, Z DAt
RX SR ZHRE L 9 2| = SR H s Z Dt
RIX IR ZHRE W 9 3| = R s Z D
RIX R =HRE L 11 0| = =R EE sy 2k
RX IR ZHRE L 12 1| 2R I Z D
RIX SR ZHRE W 12 2| =R H s Z D,
RX EN ZHRE L 13 0| = SR sy 2k
RIX IR ZHRE W 14 1| R R I Z D
RIX SR ZHRE W 14 2| R R s =R X,
RIX R ZHRE 15 0| = SR sy = A X,
RIX ESIN ZHRE W 18 0| = SR F itz Z D
RIX ESHN ZHRE L 19 0| = =R B s Z D,
RX R =HRE L 20 0| = IR EE s Z Dt
RIX ESIN ZHRE W 21 0| /= SR F itz Z D
RIX ESHN ZHRE L 22 0| = =R B s Z D,
R R ZHRE L 23 0| = ZE 4R B i 4 Z Dt
RIX IR ZHRE W 24 1| 2RI A I Z D
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1T N wE | & f= SRR B R X =R X o BX 5
R R ZHRE L 24 2| = SRR B i =R X, =3
RIX IR FHRE L 24 3| = R s =R X, -3
R SR ZHRE 24 4| /= SR g = A X, R
R R ZHRE W 24 6| /= SR F iz Z D -
RIX ESIN ZHRE W 24 7| /= R YR B s Z D -
R SR ZHRE 24 8| = SRR B i =R X, =3
R SR ZHRE L 25 1| R R I Z D -
RIX IR ZHRE W 25 2| = R s Z D -
R R =HRE 25 3| = SRR B s 2k -
R IR ZHRE L 25 5| R IR E I Z D -
RIX ESIN ZHRE W 25 6| = E R B Z D, -
R EN ZHRE L 25 7| = R s 2k -
RIX IR ZHF 1 1| =R B i =X =3
R ESHN EHF 1 2| R R s Z D, -
R R EHF 1 3| = R s 2k -
R ESN =HF 1 4| = SR B s =X =3
R ESHN EHF 2 1|2 RE I, =R, -3
R R EHF 2 2| = R s Z Dt -
RIX ESIN ZHF 2 3| = SR H s Z D -
R ESHN EHF 2 4| = IR s =R, -3
R R EHF 5 1| R RE I = A, R
RIX ESIN ZHF 5 2| = SRR H it s Z D -
R IR EHF 5 3| = SRR B s 2k -
R R ZHF 5 4| = R 5 =X R
RIX ESIN ZHF 5 5| = SR Bt I, =X =3
R ESYN EHF 5 6| = E R FEM I, = X, =3
R R ZHF 5 7| = R s =R =
R IR ZHF 5 8| /= S i B st s = X =3
R ESYN EHF 5 9| = SRR B s =R X, =3
R R =HF 5 102 E B A=A X R
R IR ZHF 6 1| =R B I =X =3
R IR EHF 6 2| = R s =R X, =3
R R =HF 6 3| = SRR B o 2k -
RIX IR EHF 6 4| = SR B s Z D -
R SR EHF 6 5| A= SR F i = A X I, =3
R EVN =HF 6 6| /= SR F iz =R X J=3:
RIX ESVN EHF 8 1| =R E I, =R X =3
R R EHF 8 2| = R s Z DAt -
R SR =HF 8 3| = R B s =X =3
R IR EF 1 2| = R s Z D -
R R F 1 3| = R s 2k -
R IR EF 1 4| = SRR Bt s Z D -
R SR EF 1 10 (= 3R B I, Z D, -
R EN EF 1 12| R IR E I 2k -
RIX IR EF 1 15| =R B i, Z D -
R SR EF 1 16 | = 3R B I Z D, -
R R EF 1 17| R IRE I Z DAt -
R ESIN EF 1 18| =R B I, Z D -
R ESHN EF 4 1|2 R E I, Z D, -
R R £F 5 0| = IR EE s Z Dt -
R ESIN EF 6 5| R IR E I Z D -
R ESHN EF 8 15| R RE I, Z D, -
R R F 8 16| = E B I Z Dt -
R IR EF 11 1| =R B I, Z D -
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1T N W & f= SRR B R X =R X o BX 5
R R F 11 8| /= ZEHR B i 4 Z Dt
RIX IR EF 11 9| = =R B s Z D
R EN EF 11 10| = RIS 2k
R R EF 11 11| R E R Z D
R ESIN EF 11 12| = 2R B I Z D
R =R EF 11 13| R E RIS 2%
R SR EF 11 14| =3 R B I, Z D
R IR EF 11 15 (= 2R B i, Z D
R R TF 11 16| = ERE I 2k
R IR EF 11 17| R IRE I Z D
R ESIN EF 11 18| = 2R B Is, Z D,
R EN EF 11 19| =R E I Z Dt
RIX IR EF 11 20| = SR B b I3 Z D
R ESHN EF 11 21| = R B I, Z D,
R R EF 11 22| = R B I, Z Dt
R ESN EF 11 23| =R B I Z D
R ESHN EF 11 24| = R BRI, Z D,
R R 7 IR E B 1 0| = IR EE s Z Dt
RIX ESIN 7 IsEE 2 0| /= 3= Him B st sk Z D
R ESHN 1 7 I EE B 3 1|2 R E I, Z D,
R R 1 7 IR E L 3 3| = R 5 Z DAt
RIX ESIN 7 IsES 3 5| R IR E I Z D
R EIN 1R 7 I EE R 3 6| = E R B, Z Dt
R R H 7 IR E B 3 7| = R s Z DAt
RIX ESIN 1 7 I EE R 4 1| =R B I Z D
R R 1R 7 I EEER 4 2| R R s Z D,
R R 7 IR E B 5 1| R RE I Z DAt
R IR 1 7 I EE R 5 3| = R s Z D
R EIN 1R 7 I EEEX 5 4| /= SR B g Z Dt
R R 1R 7 i EE 2K 6 1|2 E R Z Dt
R IR 1 7 I EE R 10 0| /= =t B st dsg Z D
R EIN 1R 7 I EE R 11 1|3 R E I, Z Dt
R R AR i = 28 11 4| = 2R B A 4 2k
R IR 7 I EE 12 1| 2RI I Z D
R R 1R 7 I EE B 12 2| = YR s Z Dt
R EVN 1R 7 i = 28 13 1| =R a2k
R ESVN 7 I EE 13 2| = R s Z D
R R 17 s EE 2N 14 0| = =R s Z Dt
R SR T isES 15 0| = SR F s Z D
R IR 7 I EE 16 1| =R E I, Z D
R R 1R 7 I EE X 16 2| = SRR B s Z Dt
R IR AR o i 2 28 16 3| = IR HE s Z D
R SR 17 I EE R 16 4| = IR s Z D,
R EN &7 IR E B 19 1|3 R E I, Z Dt
RIX IR 7 IsES 21 0| = SR H iz Z D
R SR 17 I EE R 24 1| 2R RE i Z D,
R R 1 7 s EE 2N 24 2| = R s Z Dt
RIX ESIN 1 7 I EE R 24 3| = SR H i Z D
R ESHN 1 7 I EE B 24 4| 2R FE 5 Z D,
R R 7 IR E B 24 5| = R B I Z Dt
RIX ESIN 7 IsEE 24 6| = F R E i Z D
R ESHN 1 7 I EE B 24 7= 3R H it 5 Z D,
R R 1R 7l EE 2K 25 5| A= SR F i, Z Dt
R IR 1 7 I EE R 25 6| = SR Bt i, Z D
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1T N wE | & f= SRR B R X =R X o ‘X
R R 1 7 IR E B 25 8| /= ZEHR B i 4 Z Dt -
R IR 7 I EE 25 9| = =R B s Z D -
RIX EN 1R 7 I EEEX 25 10| = RIS Z Dt -
RX R 1R 7 i = 28 26 3| = SRR B i Z D -
R ESIN 7 I EE 27 1| 2RI I Z D -
RIX =R 1R 7 I EE X 27 2| = R s Z Dt -
RX SR T isES 27 3| = R Hth s Z D -
R IR 7 I EE 27 AYE 3/ by Z D -
RIX R AR 7 I EE R 27 5| = R B, Z Dt -
RX IR AR o i 2 28 28 1| 2R I Z D -
R ESIN 7 I EE 28 2| = R B s Z D, -
RIX EN &7 IR E L 28 3| = R s 2k -
RIX IR 7 IsES 28 4|2 SR B s Z D -
R ESHN 1R 7 I EE R 28 5| = R B I, Z D, -
RIX R 1 7 s EE 2N 29 0| = =R EE s 2k -
RX ESN T isES 30 0| = SR F itz Z D -
RIX ESHN 1R 7 I EE X 31 0| = =R I s Z D, -
RX R 7 IR E B 31 2| = R s Z Dt -
RIX ESIN 7 IsEE 32 1| 2R I Z D -
RIX ESHN 1 7 I EE B 32 2| = R H it g Z D, -
RX R 1 7 IR E L 32 3| = R 5 Z Dt -
RIX ESIN 7 IsES 32 4|2 SR B s Z D -
RIX EIN 1R 7 I EE R 32 5| =S R F i 2k -
R R H 7 IR E B 34 0| = IR s Z DAt -
RIX ESIN 1 7 I EE R 35 0| = SR F itz Z D -
RIX R 1R 7 I EEER 36 0| = =R B sy Z D, -
R R 7 IR E B 37 0| = IR 5 Z DAt -
RIX IR 1 7 I EE R 38 1| =R E I, Z D -
RIX EIN 1R 7 I EEEX 38 2| = SRR B s Z Dt -
RX R 1R 7 i EE 2K 39 0| = ZE 4R B i 4 Z Dt -
RIX IR 1 7 I EE R 40 0| /= =t B st dsg Z D -
RIX EIN 1R 7 I EE R 41 0| = =R B sy Z Dt -
RX R AR i = 28 43 1|2 EREM I 2k -
R IR 7 I EE 43 2| = R B s Z D -
RIX R 1R 7 I EE B 44 2| = YR s Z Dt -
RX EVN 1R 7 i = 28 45 2| = ZE AR B o a2k -
R ESVN 7 I EE 47 1| 2RI I Z D -
RIX R 17 s EE 2N 47 2| = R s Z Dt -
RX SR EAlSETN 11 2| = SR H s Z D -
R IR TEE 1 2| = SRR H it s Z D -
RIX R TEH 1 3| = R s Z Dt -
RX IR TEH 1 4| = SRR Bt s Z D -
R SR TE 2 2| =R H s Z D, -
RX EN TEH 2 3| = R s Z Dt -
RIX IR TEHN 2 4|2 SR B s Z D -
R SR TEH 5 2| R R s Z D, -
RIX R TEH 5 3| = R s Z Dt -
RIX ESIN TEH 6 2| = SRR H st s Z D -
RIX ESHN TEH 6 3| R E R s Z D, -
RX R TEH 6 4| = IR 5 Z Dt -
RIX ESIN TEH 7 1| =R B i I =X I =3
RIX ESHN TEH 7 2| = R s =R, -3
R R TEH 8 1|2 EREM I =X, J=3:
RIX IR TEH 8 2| /= R B s Z D -
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1T = f= SRR B R X =R X o BX 5
R R TEH 8 3| = SRR B =R X,
R IR TEH 8 4| = SR B s =R X,
RIX EN TEH 9 1|2 RIS = A X,
RX R TEH 9 2| = 2R B i A=A X
R ESIN TER 9 3| = R R s =R X
RIX =R TEH 9 4| /= SR g =R X,
RX SR TEH 10 1| =R B i =X
R IR TEE 10 2| = R s =R
RIX R TEH 11 1|2 RIS f= P DS
RX IR TEH 11 2| = SRR H e Z D
R ESIN TEH 11 3| = R s =R X,
RIX EN TEH 12 1|3 R E I, = A X,
RIX IR TEH 12 2| /= R B s Z Dt
R ESHN TE 12 3| R R s =R X,
RIX R TEH 13 1|3 R E I, = A X,
RX ESN TEH 13 2| /= R YR B s =X
RIX ESHN TE 14 0| = =R I s =R,
RX R TEH 15 0| = IR EE s = A,
RIX ESIN TEH 16 0| /= 3= Him B st sk = X I
RIX ESHN TEH 17 0| = =R B s =R,
RX R TEH 18 0| = IR s Z DAt
RIX ESIN TEH 19 0| /= 3= Him B st dsg =X
RIX EIN TE 20 0 = ZE 4w B i i =R X,
R R TEH 21 1| =R =X
RIX ESIN TEH 22 2| /= R R B s Z Dt
RIX R TE 22 3| = R s = X,
R R TEH 23 2| = R s Z DAt
RIX IR TEH 24 1| =R E I, Z Dt
RIX EIN TEH 24 2| = SRR B s 2%
RX R TEH 25 2| = SRR B s Z Dt
RIX IR AEEFIL 5 2| /= YR B s Z D
RIX EIN REEFIL 6 0 = ZE 4R B i i 2k
RX R AEEFIL 7 0| = ZEHR B 3 4 2k
R IR REEFIL 8 1| =R E I, Z D
RIX R REEFIL 8 2| = SRR B s 2k
RX EVN AEEFIL 9 1| =R Z Dt
R ESVN AEEFIL 9 2| = R s Z D
RIX R REEFIL 10 2| = R s Z DAt
RX SR AEEFIL 10 3| = R Hth s Z D
R IR REEFIL 10 4| = SR s Z D
RIX R REEFIL 10 5| A= SR F i 2k
RX IR AEEFIL 11 1| 2R I Z D
RIX SR AREF L 11 2| R YR s Z D,
RX EN BEEFIL 11 3| = R s 2k
RIX IR AEEFIL 12 0| = SR H iz Z D
R SR REEFIL 15 1|2 R E I, Z D,
RIX R REEFIL 15 2| = R s Z DAt
RIX ESIN AEEFIL 15 3| = SR H i Z D
RIX ESHN REEFIL 17 0| = =R B s Z D,
RX R REEFIL 18 0| = IR EE s Z Dt
RIX ESIN AEEFIL 20 0| /= SR F itz Z D
RIX ESHN REEFIL 21 0| = =R B s Z D,
R R AEEFIL 21 2| = SRR B s Z Dt
RIX IR AEEFIL 22 0| /= =Y B st sk Z D




ihe BFREISEERTE RAMAAHE (—F411K)

SMb&E4 52 5HRE

1T N wE | & f= SRR B R X =R X o ‘X
R R AEEFIL 23 0| /= ZE 4R B i i Z Dt -
R IR AEEFIL 24 3| = R s Z D -
R EN REEFIL 25 2| = R s Z Dt -
R R AEEFIL 28 102 EREM I Z D -
R ESIN AEEFIL 28 11|22 R B s Z D -
R =R REEFIL 29 3| R IR s 2% -
R SR AEEFIL 31 1| R R I Z D -
R IR AEEFIL 31 2| = SRR H it s Z D -
R R REEFIL 31 4| = SR s Z Dt -
R IR AEEFIL 32 0| = SR F s Z D -
R ESIN AEEFILE 3 0| = = YR B sk Z D, -
R EN REEFIL E 8 2| = R s Z Dt -
RIX IR JRH 1 2| = SRR H s Z D -
RIX ESHN JRH 2 2| R R s Z Dt -
R R JRH 2 3| = R s 2k -
R ESN JRH 6 2| = SR Hth e Z D -
RIX ESHN JRH 7 2| = R s Z Dt -
R R JRH 8 2| = R s Z Dt -
RIX ESIN JRH 17 2| = SRR H st s Z D -
RIX ESHN JRH 19 2| = R s Z D, -
R R JRH 21 2| = R s Z DAt -
RIX ESIN JRET 1 1| =R B i =X =3
R EIN JRET 1 2| R R s 2k -
R R JRET 2 1| R RE I =X R
RIX ESIN JRET 2 2| /= R R B s =X =3
R R JRET 2 3| = R s = X, =
R R JRET 2 4| = IR 5 =R B
RIX IR JRET 3 1| =R E I, = X =3
R EIN JRET 3 2| = R s 2% -
R R JRET 4 1|2 E R A=A X R
RIX IR JRET 4 2| = SRR H st s Z D -
R EIN JRET 5 0| = =R B sy 2k -
R R JRET 6 0| = ZEHR B 3 4 2k -
RIX IR JRET 7 0| = =Y B st sk Z D -
R R RECETR 1 1|3 R E I, Z Dt -
R EVN IRECAETR 1 2| = ZE AR B o a2k -
RIX ESVN IRECAETR 1 3| = R s Z D -
R R RECAETR 2 0| = =R s Z Dt -
R SR RECETR 5 0| = SR F s Z D -
RIX IR IRECETR 7 0| = =R B sy Z D -
R R RICETR 8 0| = =R EE sy 2k -
R IR RECETR 12 1| 2R I Z D -
RIX SR BREENR 12 3| R R s Z D, -
R EN RECETR 12 4| = SR s Z Dt -
RIX IR RECETR 12 5| R IR E I Z D -
RIX SR REENR 12 6| = E R Bt I, Z D, -
R R RECAETR 13 0| = SR sy Z Dt -
RIX ESIN RECETR 14 0| = SR F itz Z D -
RIX ESHN REENR 15 1|2 R E I, Z D, -
R R RECAETR 15 2| = R s Z Dt -
RIX ESIN IRECETR 15 3| = SRR H s Z D -
RIX ESHN REENR 16 1|2 R E I, Z D, -
R R RECAETR 16 2| = SRR B s Z Dt -
RIX IR IRECETR 18 0| /= =Y B st sk Z D -




ihe BFREISEERTE RAMAAHE (—F411K)

SMb&E4 52 5HRE

TTEX N wE | & f= SRR B R X =R X o ‘X
R R RECAETR 19 0| /= ZE 4R B i i Z Dt -
RIX IR IRECAETR 20 0| = =Y B st sk Z D -
R EN RECETR 21 1|3 R E I, Z D -
R R IRECAETR 21 2| = 2R B i Z D -
RIX ESIN IRECAETR 21 3| = R R s Z D -
R =R RECAETR 22 0| = =R I s Z D -
R SR RECETR 23 0| = SR F s Z D -
RIX IR IRECETR 24 2| = SRR H it s Z D -
R R RECETR 25 1|2 RIS Z D -
R IR RECETR 25 2| = SRR H e Z D -
RIX ESIN IRECETR 26 2| = R B s Z D, -
R EN RECAETR 26 3| = R s Z Dt -
RIX IR RECETR 26 4|2 SR B s Z D -
RIX ESHN BREENR 26 5| = R B I, Z D, -
R R RECAETR 26 6| = R B I, 2k -
R ESN RECETR 27 0| = SR F itz Z D -
RIX ESHN BREENR 28 0| = =R I s Z D, -
R R RECAETR 30 0| = IR EE s Z Dt -
RIX ESIN RECAETR 31 1| 2R I Z D -
RIX ESHN REENR 31 2| = R H it g Z D, -
R R RECAETR 31 4| = SR 5 Z Dt -
RIX ESIN IRECETR 31 5| R IR E I Z D -
R EIN REENR 31 6| = E R B, Z D, -
R R RECAETR 31 8| = IR 5 Z DAt -
RIX ESIN RECETR 31 9| = SR F s Z D -
R R REENR 31 10| =3 R E I Z D, -
R R RECAETR 31 18| R EIRE I Z DAt -
R IR ‘ILEZ 3 3| = R s Z D -
R EIN ‘ILEE 6 2| = SRR B s Z D -
R R ‘ILER 7 0| = ZE 4R B i 4 Z Dt -
R IR ‘ILEZ 9 3| /= R R s Z D -
R EIN ‘ILEE 9 4| /= SR B g Z D -
R R ‘ILER 10 0| = ZEHR B 3 4 2k -
R IR ®ILEZ 11 0| = =Y B st sk Z D -
R R ‘ILEE 13 0| /= =R s Z D, -
R EVN ‘ILER 14 2| = ZE AR B o a2k -
R ESVN ®ILEZ 15 0| = = YR B sk Z D -
R R ‘ILER 16 0| = =R s Z Dt -
R SR 'k 5 1| R R I Z D -
R IR ‘il Lk 5 4| = SR s Z D -
R R il £ 5 5| A= SR F i 2k -
R IR 'k 5 6| = R B b i Z D -
R SR Gi]== 1 1|2 R E I, =R X, =3
R EN 1]== 1 2| = YR s 2k -
RIX IR @) 2 1| =R B i =X =3
R SR mH 2 2| =R H s Z D, -
R R Ci]== 3 0| = SR sy = A X, A
RIX ESIN @) 4 0| /= = Him B st sk =X =3
R ESHN Ci]== 5 0| = =R B s =R X, =
R R Gi]== 6 0| = IR EE s = A, B
RIX ESIN @) H 7 0| /= 3= Him B st dsg =X I =3
R ESHN Ci]== 8 0| = =R B s =R, -3
R R i]== 9 0| = ZE 4R B i 4 =X, J=3:
RIX IR &) 10 0| = SR F it s =X =3




ihe BFREISEERTE RAMAAHE (—F411K)

SMb&E4 52 5HRE

1T = f= SRR B R X f= 3t P X 7 BX 5
R R i]== 11 0| /= ZE 4R B i i =R X,
R IR ]== 12 0| = =Y B st sk =R X,
RIX EN CI]s= 13 0 = ZE 4R B iy i = A X,
RX R 1]== 14 0| /= ZEHR B i 4 A=A X
R ESIN ]== 15 0| /= = Y B st sk =R X
RIX =R Ci]s= 16 0 = ZE 4R B i i =R X,
RX SR ]== 17 1| =R B i =X
R IR @) 17 2| = R s Z D
RIX R Ci]s= 18 0 = ZE 4R B i 45 f= P DS
RX IR ]== 19 1| =R E i i = X I
R ESIN @) 19 2| = SRR H it g f= P DS
RIX EN 1]== 20 0| = YRI5 = A X,
RIX IR ]== 21 0| /= = Him B st tsg =X
R ESHN ]== 22 0| = =R B sy =R X,
RIX R Ci]== 23 0| = =R EE s = A X,
RX ESN ]== 24 0| /= 3= Him B stttk =X
RIX ESHN ]== 25 0| = =R I s =R,
RX R Gi]== 26 0| = IR EE s = A,
RIX ESIN ]== 27 0| /= 3= Him B st sk = X I
RIX ESHN ]== 28 0| = =R B s =R,
RX R Gi]== 29 0| = IR s = A,
RIX ESIN ]== 30 0| /= 3= Him B st dsg =X
RIX EIN Cifs= 31 0 = ZE 4w B i i =R X,
R R i]== 32 0| = IR s =X
RIX ESIN ]== 33 0| /= 3= i B st sk =X
RIX R G5 34 0| = =R B sy = X,
R R i]== 35 0| = IR 5 =R
RIX IR ]== 36 0| /= = YR B st sk = X
RIX EIN Ci]s= 37 1|2 REM I =R X,
RX R i]== 37 2| = SRR B s Z Dt
RIX IR @) 37 3| /= R R s Z D
RIX EIN Cifs= 38 1|3 R E I, f= 3 s
RX R 1]== 38 2| = 2R B o 2k
R IR @) 38 3| = R s Z D
RIX R CI]s= 39 1|3 R E I, f= P DS
RX EVN 1]== 39 2| = ZE AR B o a2k
R ESVN &) 39 3| = R s Z D
RIX R Ci]== 40 0| = =R s Z DAt
RX SR ]== 41 0| /= 3= Him B st dsg =X
R IR ]== 42 0| = =R B sy =R
RIX R Ci]s= 43 0 = ZE 4R B iy 4 2k
RX IR ]== 44 1| 2R I Z D
R SR mH 44 2| R YR s Z D,
RX EN 1]== 45 0| = SR sy 2k
RIX IR @) 46 0| = SR H iz Z D
R SR mH 47 0| = = YR B sy Z D,
RIX R Ci]== 48 0| = SR sy Z DAt
RIX ESIN @) 49 0| = SR F itz Z D
RIX ESHN ) H 50 0| = =R B s Z D,
RX R Gi]== 51 0| = IR EE s Z Dt
RIX ESIN @) H 52 0| /= SR F itz Z D
RIX ESHN ) H 53 0| = =R B s Z D,
R R i]== 54 0| = ZE 4R B i 4 Z Dt
RIX IR &) 55 0| /= =Y B st sk Z D
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SMb&E4 52 5HRE

1T N = f= SRR B R X =R X o BX 5
R R i]== 56 0| /= ZE 4R B i i Z Dt
RIX IR @) 57 0| = =Y B st sk Z D
R EN CI]s= 58 0 = ZE 4R B iy i 2k
R R 1]== 59 0| /= ZEHR B i 4 Z D
RIX ESIN @) 60 0| /= = Y B st sk Z D
R =R Ci]s= 61 0 = ZE 4R B i i 2%
R SR ]== 62 0| = SR F s Z D
RIX IR @) 63 0| = =R B sy Z D
R R Ci]s= 64 0 = ZE 4R B i 45 2k
R IR ]== 65 0| = SR F s Z D
RIX ESIN @) 66 0| = = YR B sk Z D,
R EN 1]== 67 0| = YRI5 2k
RIX IR @) 68 0| = SR F it s Z D
RIX ESHN mH 69 0| = =R B sy Z D,
R R Ci]== 70 0| = =R EE s 2k
R ESN I 1 1| =R B i Z D
RIX ESHN N 1 2| = SR H i g Z D,
R R N 1 3| = R s Z Dt
RIX ESIN N 1 4| = SRR Bt s Z D
RIX ESHN N 1 5| = R B I Z D,
R R N 2 1| 